
CHEMISTRY

BOOKS - BRILLIANT PUBLICATION

REDOX REACTIONS

Questions

1. Find out the oxidation number of (i) C in  (ii) Cr in  (iii) Pb

in .

Watch Video Solution

CO2 Cr2O
2 −
7

Pb3O4

2. What is the oxidation number of iodine in the following compounds:

(a) , (b)  (c)  (d)  (e) .

Watch Video Solution

KI I2 ICl3, IF5 HIO4

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_h32hxcNCTJq3
https://dl.doubtnut.com/l/_ggn0mbA2C5NY


3. Find the oxidation number of Mn, Cr and Cl in  and 

 respectively.

Watch Video Solution

KMnO4, K2Cr2O7

KClO4

4. The outermost subshell electronic configuration of an element is

. Answer the following questions. 


a) Write the complete subshell electronic configuration. 

b) Find the valency of this element? 

c) Is it metal or non-metal? Give reason.

Watch Video Solution

3s23p4

5. Write the net ionic equation for the reaction of potassium dichromate

(VI),  with ferrous sulphate  in sulphuric acid to ferric 

 ion and chromium(III) ion.

Watch Video Solution

K2Cr2O7 (FeSO4)

(Fe3 + )

https://dl.doubtnut.com/l/_ggn0mbA2C5NY
https://dl.doubtnut.com/l/_3NQfLxpZRukV
https://dl.doubtnut.com/l/_rf8DgbpHeepQ
https://dl.doubtnut.com/l/_wC5LR5HtknX2


6. Permanganate ion reacts with bromide ion in basic medium to give

manganese dioxide and bromate ion. Write the balanced equation for the

reaction using oxidation number method. 

Skeletal equation is 

Watch Video Solution

MnO−
4

+ Br− → MnO2 + BrO−
3

7. Write the balanced ionic equation for the reaction of zinc with conc.

nitric acid to produce zinc nitrate, nitrogen dioxide and water:

Watch Video Solution

8. Write ionic equation for the reaction between  ions and 

ions in acidic medium?

Watch Video Solution

Cr2O
2 −
7

Fe2 +

https://dl.doubtnut.com/l/_wC5LR5HtknX2
https://dl.doubtnut.com/l/_4nt4t6W3Jcgg
https://dl.doubtnut.com/l/_GJWv8lFy9gym
https://dl.doubtnut.com/l/_sRHEq6YxLrbG


Level I

9. Give the balanced ionic equation for the oxidation of  by 

ions in basic medium to produce molecular iodine  and manganese

(IV) oxide .

Watch Video Solution

I − MnO−
4

(I2)

(MnO2)

1. In which  acts as oxidant, while reacting with:

A. acidified 

B. acidified 

C. 

D. acidified 

Answer: C

Watch Video Solution

SO2

KMnO4

K2Cr2O7

H2S

C2H5OH

https://dl.doubtnut.com/l/_sRHEq6YxLrbG
https://dl.doubtnut.com/l/_PEWlxm42QZ3E
https://dl.doubtnut.com/l/_14UnmsQAF4qQ


2. Oxidation number of carbon in  are respectively:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

C3O2, Mg2C3

– 4/3, + 4/3

+4/3, − 4/3

−2/3, + 2/3

−2/3, + 4/3

3. A sulphur containing species that cannot be a reducing agent is:

A. 

B. 

C. 

D. 

H2SO4

H2S

SO2

H2SO3

https://dl.doubtnut.com/l/_14UnmsQAF4qQ
https://dl.doubtnut.com/l/_sQSNA5SS66ox
https://dl.doubtnut.com/l/_H9e2stxPuKfM


Answer: B

Watch Video Solution

4. The oxidation number of  in  is:

A. 

B. 

C. 

D. Zero

Answer: A

Watch Video Solution

Cr [Cr(NH3)4Cl2]
+

+3

+2

+1

5. The oxidation state of most electronegative element in the products of

the reaction, 'BaO_2' with dil. 'H_2 SO_4' are

https://dl.doubtnut.com/l/_H9e2stxPuKfM
https://dl.doubtnut.com/l/_1K21tQxoh0R8
https://dl.doubtnut.com/l/_OP9A6WacJK5H


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

0 and − 1

−1 and − 2

−2 and 0

−2 and + 1

6. In which of the following compounds, the oxidation number of iodine is

fractional?

A. 

B. 

C. 

D. 

Answer: B

IF7

I −
3

IF5

IF3

https://dl.doubtnut.com/l/_OP9A6WacJK5H
https://dl.doubtnut.com/l/_NoKaIQr7Fk1f


Watch Video Solution

7. Which of the following processes does not involve oxidation of iron?

A. Decolourization of blue  solution by iron

B. Formation of  from Fe

C. Liberation of  from steam by iron at high temperature

D. Rusting of iron sheets

Answer: B

Watch Video Solution

CuSO4

Fe(CO)5

H2

8.  undergoes disproportionation reaction in acidic medium but 

 does not because

A. In  Mn is in intermediate oxidation state

B. In  Mn is in lowest oxidation state

MnO
2 −
4

MnO
−
4

MnO
2 −
4

MnO
−
4

https://dl.doubtnut.com/l/_NoKaIQr7Fk1f
https://dl.doubtnut.com/l/_YJvqIpjhfAeR
https://dl.doubtnut.com/l/_xI4801TBvgYN


C. In Mn is in intermediate oxidation state

D. None of the above

Answer: A

Watch Video Solution

MnO
−
4

9. In half reaction:  .The number of electrons that must

be added:

A. 2, on right side

B. 2, on left side

C. 3, on right side

D. 4, on left side

Answer: A

Watch Video Solution

S2O
2 −
3 → S4O

2 −
6

https://dl.doubtnut.com/l/_xI4801TBvgYN
https://dl.doubtnut.com/l/_0e8STl8Md4Le
https://dl.doubtnut.com/l/_XyfcIWqmQtOQ


10. Which of the following chemical reactions depicts the oxidizing

behaviour of  ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

H2SO4

2HI + H2SO4 → I2 + SO2 + 2H2O

Ca(OH)2 + H2SO4 → CaSO4 + 2H2O

NaCl + H2SO4 → NaHSO4 + HCl

2PCl5 + H2SO4 → 2POCl3 + 2HCl + SO2Cl2

11. In which of the following changes, there is transfer of five electrons?

A. 

B. 

C. 

D. 

MnO
−
4 → Mn2 +

CrO
2 −
4 → Cr3 +

MnO
2 −
4 → MnO2

Cr2O
2 −
7 → 2Cr3 +

https://dl.doubtnut.com/l/_XyfcIWqmQtOQ
https://dl.doubtnut.com/l/_nEhPmOCxRHk9


Answer: A

Watch Video Solution

12. The following reaction describes the production of metallic iron:

 How many electrons are lost by each

carbon atom in this reaction?

A. 1

B. 2

C. 3

D. 4

Answer: D

Watch Video Solution

2Fe2O3 + 3C → 4Fe + 3CO2

https://dl.doubtnut.com/l/_nEhPmOCxRHk9
https://dl.doubtnut.com/l/_EAHfLcnFzd5e


13. The correct order of compounds in the decreasing order based on the

oxidation state of oxygen in them is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

OF2 > HOF > KO2 > Sr(IO3)2

OF2 > KO2 > HOF > Sr(IO3)2

HOF > KO2 > Sr(IO3)2 > OF2

KO2 > OF2 > HOF > Sr(IO3)2

14. Which products are expected from the disproportionation of

hypochlorous acid

A.  and 

B.  and 

C. 

HClO3 Cl2O

HClO2 HClO4

HCl and Cl2O

https://dl.doubtnut.com/l/_gQJgIquBZcpf
https://dl.doubtnut.com/l/_YbSw1cNqYgp8


D.  and 

Answer: D

Watch Video Solution

HCl HClO3

15. The equivalent mass of oxidising agent in the following reaction is,

A. 32

B. 64

C. 16

D. 8

Answer: C

Watch Video Solution

SO2 + 2H2S → 3S + 2H2O

https://dl.doubtnut.com/l/_YbSw1cNqYgp8
https://dl.doubtnut.com/l/_6v6hktz0Vpg5


16. Complete the balancing of the following half reaction, taking place in

basic media, How many electrons are needed to

balance it?

A. 2 electrons, left side

B. 2 electrons, righ side

C. 4 electrons, right side

D. 6 electrons, right side

Answer: D

Watch Video Solution

Br− (aq) → BrO−
3 (aq)

17. Consider the metals: . Based on their reactivity

order, pick the correct statement

A. All five metals produce hydrogen gas on reacting with acids

B. Ag will substitute Cu from its aqueous solution

Mn, Mg, Zn, Ag, Cu

https://dl.doubtnut.com/l/_9Cij3P8dpXua
https://dl.doubtnut.com/l/_6ymaafvJejop


C. Mn will substitute Zn from its aqueous solution

D. Cu will substitute Mg from its aqueous solution

Answer: C

Watch Video Solution

18.  under atmospheric condition changes to  .If oxidation

number of S is +6, what is the value of x in  ?

A. 1

B. 2

C. 3

D. 4

Answer: D

Watch Video Solution

SO2 SO2 −
x

SO2 −
x

https://dl.doubtnut.com/l/_6ymaafvJejop
https://dl.doubtnut.com/l/_EemP8ODfEf3E
https://dl.doubtnut.com/l/_0WD62xmPuyks


19. Equivalent weight of  (molecular weight=M) when it

disproportionates into  and  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

H3PO2

PH3 H3PO3

M

M /2

M /4

3M /4

20. In the reaction,

the change in the oxidation number of the chromium atom is

A. a decrease by six units

B. a decrease by three units

C4H10 ( l ) + Cr2O
2 −
7 ( aq )

+ H +
( aq )

→ H6C4O4 ( s ) + Cr3 +
( aq )

+ H2O ( l )

https://dl.doubtnut.com/l/_0WD62xmPuyks
https://dl.doubtnut.com/l/_A81a0bl6Q4av


C. an increase by three units

D. an increase by five units

Answer: B

Watch Video Solution

21. Number of moles of , reduced by one mole of  ions is:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

K2Cr2O7 Sn2 +

1/3

1/6

2/3

1

https://dl.doubtnut.com/l/_A81a0bl6Q4av
https://dl.doubtnut.com/l/_INwYmMWvQMfE


22. In the alkaline medium, the colour of potassium dichromate solution

changes from orange to yellow due to the formation of potassium

chromate. What is the change in oxidation state of chromium?

A. 1

B. 2

C. 3

D. 0

Answer: D

Watch Video Solution

23. A compound contains atoms of three elements A, B, and C. If the

oxidation number of A is +2, B is +5 and that of C is–2, the possible

formula of the compound is

A. A3(BC4)2

https://dl.doubtnut.com/l/_XwgmU9tEh3B9
https://dl.doubtnut.com/l/_03NdNC4FShgK


B. 

C. 

D. 

Answer: A

Watch Video Solution

A3(B4C)2

ABC2

A3(BC3)2

24.  acts as a reducing agent in

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H2O2

FeCl2 + HCl + H2O2 → FeCl3 + H2O

Cl2 + H2O2 → 2HCl + O2

2HI + H2O2 → I2 + H2O

H2SO3 + H2O2 → H2SO4 + H2O

https://dl.doubtnut.com/l/_03NdNC4FShgK
https://dl.doubtnut.com/l/_RneS2nLe04hM
https://dl.doubtnut.com/l/_r1U065X6a9ht


25. Oxidation number of S in  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H2SO5

+8

+6

+4

+2

26. Which one is not correct about the change given below?

A.  is oxidised  to 

B. Carbon is oxidised from  to 

C. N is oxidised from  to 

D. Carbon is not oxidised

K4[Fe(CN)6]
oxi

−−→ Fe3 + + CO2 + NO−
3

Fe Fe2 + Fe3 +

C 2 + C 4 +

N 3 − N 5 +

https://dl.doubtnut.com/l/_r1U065X6a9ht
https://dl.doubtnut.com/l/_gzMHwAvYJh12


Answer: D

Watch Video Solution

27. Which of the following isintermolecular redox reaction?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2
CHO

∣
CHO

OH −

−−→

CH2OH

∣
∣
∣

COOH

2C6H6CHO
Al (OC2H5 ) 3

−−−−−−−→ C6H5COOH + C6H5CH2OH

4CrO5 + 6H2SO4 → 2Cr2(SO4)3 + 6H2O + 7O2

As2S3 + HNO3 → H3AsO4 + H2SO4 + NO

28. The oxidation number of sulphur in  and  are:

A. 

S8, S2F2 H2S

0, + 1 and − 2

https://dl.doubtnut.com/l/_gzMHwAvYJh12
https://dl.doubtnut.com/l/_GhbiFO5H7AaT
https://dl.doubtnut.com/l/_eAjjkKUtkYGO


B. 

C. 

D. 

Answer: A

Watch Video Solution

+2, + 1 and − 2

0, + 1 and + 2

−2, + 1 and − 2

29. In a reaction, 4 mole of electrons are transferred to 1 mole of HNO3,

the possible productobtained due to reduction is:

A. 0.5 mole of 

B. 0.5 mole of 

C. 1 mole of 

D. 1 mole of 

Answer: B

Watch Video Solution

N2

N2O

NO2

NH3

https://dl.doubtnut.com/l/_eAjjkKUtkYGO
https://dl.doubtnut.com/l/_6341kqXFOKSu


30. The colour of changes from red-orange to lemon yellow on

treatment with aq.KOH because of:

A. Reduction of Cr(VI) to Cr(III)

B. Formation of chromium hydroxide

C. Conversion of dichromate into chromate ion

D. Oxidation of potassium hydroxide to potassium peroxide

Answer: C

Watch Video Solution

K2Cr2O7

31. One mole of hydrazine  loses 10 moles of electrons in a

reaction to form a new compound X. Assuming that all the nitrogen

atoms in hydrazine appear in the new compound, what is the oxidation

state of nitrogen in X ? (Note There is no change in the oxidation state of

hydrogen in the reaction)

(N2H4)

https://dl.doubtnut.com/l/_6341kqXFOKSu
https://dl.doubtnut.com/l/_Zl8LMyARbZ0l
https://dl.doubtnut.com/l/_FeU1sn6EkRm1


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

−1

−3

+3

+5

32. For the redox reaction,

 


The correct coefficients of the reactants for the balanced reaction are:

A. 

B. 

C. 

D. 

MnO
−
4 + C2O

2 −
4 + H + → Mn2 + + CO2 + H2O

MnO
−
4 C2O

2 −
4 H +

2 5 16

MnO
−
4 C2O

2 −
4 H +

16 5 2

MnO
−
4 C2O

2 −
4 H +

5 16 2

MnO
−
4 C2O

2 −
4 H +

2 16 5

https://dl.doubtnut.com/l/_FeU1sn6EkRm1
https://dl.doubtnut.com/l/_l7SOtLhAl4bu


Answer: A

Watch Video Solution

33. The oxidation state of chromium in the final product formed in the

reaction between KI and acidified potassium dichromate solution is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

+4

+6

+2

+3

34. Amongst the following, identify the species with an atom in +6

oxidation state:

https://dl.doubtnut.com/l/_l7SOtLhAl4bu
https://dl.doubtnut.com/l/_Pfwxb8sz9pTw
https://dl.doubtnut.com/l/_YjcagWd3zKnJ


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

MnO
−
4

Cr(CN)3 −
6

NiF 2 −
6

CrO2Cl2

35. The reaction of white phosphorous with aqueous NaOH gives

phsophine along with another phosphorous containing compound. The

reaction type, the oxidation states of phosphorous in phosphine and the

other product are respectively:

A. redox reaction, -3 and -5

B. redox reaction , + 3 and + 5

C. disproportionation reaction, -3 and + 1

D. disproportion reaction, -3 and + 3

https://dl.doubtnut.com/l/_YjcagWd3zKnJ
https://dl.doubtnut.com/l/_3WSwTKmNkdC4


Answer: C

Watch Video Solution

36. Hydrogen peroxide in its reaction with  and 

respectively, is acting as a:

A. reducing agent , oxidising agent

B. reducing agent, reducing agent

C. oxidising agent, oxidising agent

D. oxidising agent, reducing agent

Answer: A

Watch Video Solution

KIO4 NH2OH

37. Arrange the following in the increasing order of oxidation state of Mn:

(i)Mn2 +    (ii)MnO2    (iii)KMnO4     (iv)K2MnO4

https://dl.doubtnut.com/l/_3WSwTKmNkdC4
https://dl.doubtnut.com/l/_UEkMQSQySUy0
https://dl.doubtnut.com/l/_4qmMNxCfUbRb


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(i) > (ii) > (iii) > (iv)

(i) < (ii) < (iv) < (iii)

(ii) < (iii) < (i) < (iv)

(iii) < (i) < (iv) < (ii)

38. Which of the following has least oxidation state of Fe?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

K3[Fe(OH)6]

K2[FeO4]

FeSO4. (NH4)2SO4.6H2O

[Fe(CN)6]
3 −

https://dl.doubtnut.com/l/_4qmMNxCfUbRb
https://dl.doubtnut.com/l/_epYVJq7FjnXk


39. In the reaction, , the number of

electrons transferred from reductant to oxidant is:

A. 8

B. 4

C. 16

D. 24

Answer: D

Watch Video Solution

8Al + 3Fe3O4 → 4Al2O3 + 9Fe

40. In the balanced chemical reaction,

, a, b, c and d respectively

correspond to:

A. 5,6,3,3

IO−
3 + aI − + bH + → cH2O + dI2

https://dl.doubtnut.com/l/_epYVJq7FjnXk
https://dl.doubtnut.com/l/_6hl1waY4up9E
https://dl.doubtnut.com/l/_SYqQrAj5lDYb


B. 5,3,6,3

C. 3,5,3,6

D. 5,6,5,5

Answer: A

Watch Video Solution

41. In alkaline medium  oxidises  to  and itself gets reduced

to  . How many moles of  are oxidized by 1 mole of  ?

A. 1

B. 1.5

C. 2.5

D. 3.5

Answer: C

Watch Video Solution

ClO2 H2O2 O2

Cl− H2O2 ClO2

https://dl.doubtnut.com/l/_SYqQrAj5lDYb
https://dl.doubtnut.com/l/_sBongoUquEIX


42. The oxidation state of iodine in  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

IPO4

+1

+3

+5

+7

43. In alkaline medium,  reacts with  and  separately to

give:

A.  and 

B.  and 

C.  and 

H2O2 Fe3 + Mn2 +

Fe4 + Mn4 +

Fe2 + Mn4 +

Fe3 + Mn4 +

https://dl.doubtnut.com/l/_sBongoUquEIX
https://dl.doubtnut.com/l/_ff1adkMgEe0w
https://dl.doubtnut.com/l/_z154cqTfOeyq


D.  and 

Answer: C

Watch Video Solution

Fe4 + Mn2 +

44. When hydrogen peroxide is added to acidified potassium dichromate,

a blue colour is produced due to formation of

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CrO3

Cr2O3

CrO5

CrO
2 −
4

https://dl.doubtnut.com/l/_z154cqTfOeyq
https://dl.doubtnut.com/l/_fSpOAVlbfLUj


45. Number of moles of  required to oxidise one mole of ferrous

oxalate completely in acid medium will be:

A. 7.5 moles

B. 0.2 moles

C. 0.6 moles

D. 0.4 moles

Answer: D

Watch Video Solution

MnO
−
4

46. Freshly prepared, bright blue coloured solution of sodium in liquid

ammonia can be used to reduce the organic functional moieties. In this,

the actual reducing species is:

A. 

B. 

[Na(NH3)n]
+

[H2(NH3)n]

https://dl.doubtnut.com/l/_k0eQG7XdovAv
https://dl.doubtnut.com/l/_rzI6gJJYY4TT


C. 

D. 

Answer: D

Watch Video Solution

[NaNH2(NH3)n]

[e(NH3)n]
−

47. The oxidation number of nitrogen atoms in  are

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

NH4NO3

+3, + 3

+3, − 3

−3, + 5

−5, + 3

https://dl.doubtnut.com/l/_rzI6gJJYY4TT
https://dl.doubtnut.com/l/_61ekFCdvPSGE


48. When methane is burnt in oxygen to produce  and , the

oxidation number of carbon changes by:

A. 

B. zero

C. 

D. 

Answer: C

Watch Video Solution

CO2 H2O

−8

+8

+4

49. Which of the following reactions do not involve oxidation reduction? 

I)  


II) 


III)  


IV) 

2Cs + 2H2O + 2CsOH + H2

2CuI2 → 2CuI + I2

NH4Br + KOH → KBr + NH3 + H2O

4KCN + Fe(CN)2 → K4[Fe(CN)6]

https://dl.doubtnut.com/l/_JGLhUZuFi4oH
https://dl.doubtnut.com/l/_RNnqTN9oz2kT


A. I, II

B. I, III

C. I, III, IV

D. III, IV

Answer: D

Watch Video Solution

50. In which of the following pairs is there the greatest difference in the

oxidation numbers of the underlined elements?

A.  and 

B. and 

C.  and 

D.  and 

Answer: D

N––O2 N2–––
O4

S––O
2 −
3 S––O

2 −
4

S––
2 −

S2–––
O2 −

3

S––
2 −

S––O
2 −
4

https://dl.doubtnut.com/l/_RNnqTN9oz2kT
https://dl.doubtnut.com/l/_LHtbZYt9BCJM


Level Ii

Watch Video Solution

1. Which of the following is not a disproportionation reaction?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

P4 +
Θ

OH → H2PO
Θ
2 + PH3

Cl2 +
Θ

OH → ClΘ + ClOΘ

2H2O2 → 2H2O + O2

Na2O2 + 2H2O → 2NaOH + H2O2

2. When  is passed through acidified solution of potassium

dichromate, then chromium sulphate is formed. The change in oxidation

number of chromium is:

SO2

https://dl.doubtnut.com/l/_LHtbZYt9BCJM
https://dl.doubtnut.com/l/_KfiGOTqfetY1
https://dl.doubtnut.com/l/_uwTvDholcBU3


A.  to 

B.  to 

C.  to 

D.  to 

Answer: C

Watch Video Solution

+4 +2

+5 +3

+6 +3

+7 +2

3. Excess of KI reacts with  solution and then  solution is

added to it. Which of the statement is incorrect in this reaction?

A. Evolved  is reduced

B.  is formed

C.  is oxidised.

D.  is formed

Answer: B

CuSO4 Na2S2O3

I2

CuI2

Na2S2O3

Cu2I2

https://dl.doubtnut.com/l/_uwTvDholcBU3
https://dl.doubtnut.com/l/_mXWDNE2s97NP


Watch Video Solution

4. The value of 'n' in,  is:

A. 5

B. 4

C. 3

D. 2

Answer: A

Watch Video Solution

MnO
−
4 + 8H + + ne → Mn2 + + 4H2O

5. When Sn (IV) chloride is treated with excess , the complex 

is formed. The oxidation state of Sn in this complex is:

A. 

B. 

HCl

[SnCl6]2 −

+6

−2

https://dl.doubtnut.com/l/_mXWDNE2s97NP
https://dl.doubtnut.com/l/_QUE6GLetBfle
https://dl.doubtnut.com/l/_0Cocj8dSZOxP


C. 

D. 

Answer: C

Watch Video Solution

+4

−5

6. A compound of Xe and F is found to have 53.3% Xe. Oxidation number

of Xe in this compound is:

A. 

B. zero

C. 

D. 

Answer: D

Watch Video Solution

−4

+4

+6

https://dl.doubtnut.com/l/_0Cocj8dSZOxP
https://dl.doubtnut.com/l/_Dhayawd84dDU
https://dl.doubtnut.com/l/_oRjw9psd8uuf


7. When the ion  acts as an oxidant in acidic aqueous solution

the ion  is formed. How many mole of  would be oxidised to 

 by one mole of ions?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Cr2O
2 −
7

Cr3 + Sn2 +

Sn4 + Cr2O
2 −
7

2/3

3/2

2

3

8. In a reaction, 4 mole of electrons are transferred to 1 mole of HNO3, the

possible productobtained due to reduction is:

A. (1/2)mole 

B. (1/2) mole 

N2

N2O

https://dl.doubtnut.com/l/_oRjw9psd8uuf
https://dl.doubtnut.com/l/_lVwyCVTZCS1z


C. 1 mole of 

D. 1 mole 

Answer: B

Watch Video Solution

NO2

NH3

9.  reacts with  according to equation: 

. The weight of 

required to react with 100 mL of solution containing 0.66 g of  is

A. 5.2g

B. 4.57g

C. 2.3 g

D. 1.04 g

Answer: D

Watch Video Solution

NaIO3 NaHSO3

IO−
3 + 3HSO−

3 → I − + 3H + + 3SO2 −
4 NaHSO3

NaIO3

https://dl.doubtnut.com/l/_lVwyCVTZCS1z
https://dl.doubtnut.com/l/_ATIFHRw54Wlb


10. The values of‘x' and 'y'in the following redox reaction are: - 

A. x=2, y=4

B. x=5, y=3

C. x=3, y=5

D. x=4, y=2

Answer: C

Watch Video Solution

xCI2 + 6OH − → ClO−
3 + yCl− + 3H2O

11. A mixture of potassium chlorate, oxalic acid and sulphuric acid is

heated. During the reaction which element undergoes maximum change

in the oxidation number?

A. Cl

https://dl.doubtnut.com/l/_ATIFHRw54Wlb
https://dl.doubtnut.com/l/_jgegClET6cYO
https://dl.doubtnut.com/l/_LphqNZm5vzdV


B. 

C. 

D. 

Answer: A

Watch Video Solution

C

K

H

12. 

Role of hydrogen peroxide'in the above reactions is respectively:

A. oxidizing in (i) and reducing in (ii)

B. reducing in (i) and oxidizing in (ii)

C. reducing in (i) and (ii)

D. oxidizing in (i) and (ii)

Answer: C

i)H2O2 + O3 → H2O + 2O2   ii)H2O2 + Ag2O → 2Ag + H2O + O2

https://dl.doubtnut.com/l/_LphqNZm5vzdV
https://dl.doubtnut.com/l/_EWMZ9FvBGRiS


Watch Video Solution

13. In the unbalanced reaction:

 


If the stoichiometric coefficients of  and  are

w,x,yand z respectively, the numerical value are

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Al + KMnO4 + H2SO4 → K2SO4 + Al2(SO4)3 + MnSO4 + H2O

Al, H2SO4MnSO4 H2O

2. 6. 7. 8

1.6.7.3

10. 24.6.24

24. 23.5.10

14. The oxidation number of carbon is zero in 

I)HCHO   II)CH2CI2    III)C6H12O6    IV )C12H22O11

https://dl.doubtnut.com/l/_EWMZ9FvBGRiS
https://dl.doubtnut.com/l/_AihPSCLlvE1a
https://dl.doubtnut.com/l/_G3wyfc7oGnxx


A. I, II only

B. I, II, III only

C. All

D. None

Answer: C

Watch Video Solution

15. For the redox reaction,  in basic

medium, the coefficients of  and  in the balanced

equation are respectively

A. 4,1,7

B. 7,4,1

C. 4,1,10

D. 1,4,10

Zn + NO−
3 → Zn2 + + NH

+
4

Zn, NO−
3 OH −

https://dl.doubtnut.com/l/_G3wyfc7oGnxx
https://dl.doubtnut.com/l/_7xjYuf95X6cG


Answer: C

Watch Video Solution

16. A solution containing  ions: The solution requires 22.6

mL of 0.02  in the presence of  for oxidation. The

resulting solution is neutralized and added excess KI. The iodine is

liberated according to this equation  The iodine

liberated requires 11.3 mL of 0.05 M  solution. The molar ratio of

 in solution is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Cu+ 2, C2O
− 2
4

MKMnO4 H2SO4

Cu2 + + I − → Cu2I2

Na2S2O3

Cu2 + , C2O
− 2
4

1: 1

1: 2

2: 1

1: 3

https://dl.doubtnut.com/l/_7xjYuf95X6cG
https://dl.doubtnut.com/l/_zWhlTpsQPOTH


17. 2 mole of  in acidic medium are oxidised by 'X' mole of 

whereas 2 mole of  are oxidised by ‘Y' mole of . The ratio

of 'X' and 'Y' is:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

FeSO4 KMnO4

FeC2O4 KMnO4

1: 3

1: 2

1: 4

1: 5

18. A solution of  is used for the reaction 

 .The volume of 

 requires to react of  is (MW=158) :

A. 13.33 mL

0.1MKMnO4

S2O
− 2
3 + 2MnO

−
4 + H2O → MnO2 + SO

− 2
4 + OH −

KMnO4 0.158g Na2S2O3

https://dl.doubtnut.com/l/_zWhlTpsQPOTH
https://dl.doubtnut.com/l/_vSyBm6YBLl3U
https://dl.doubtnut.com/l/_52hsHilYdp95


B. 6.66 mL

C. 3.33 mL

D. 26.67 mL

Answer: D

Watch Video Solution

19.  


The number of  ions in the balanced equation of the above redox

reaction is

A. 8

B. 16

C. 4

D. 2

Answer: B

C2O
2
4 − + MnO

−
4

H +

−−→ Mn2 + + CO2

H +

https://dl.doubtnut.com/l/_52hsHilYdp95
https://dl.doubtnut.com/l/_HxVc2P8vs4Uv


Watch Video Solution

20. In the standardization of  using  by iodometry, the

equivalent mass of  is

A. (molar mass)/2

B. (molar mass)/6

C. (molar mass)/3

D. same as molar mass

Answer: B

Watch Video Solution

Na2S2O3 K2Cr2O7

K2Cr2O7

21. In redox reaction,  oxidizes  into 

 and  ions in acidic medium, where  itself

reduces into , then how many moles of  will react with

1 mole of 

Ba(MnO4)2 K4[Fe(CN)6]

Fe3 + , CO2 −
3 NO−

3 Ba(MnO4)2

Mn+ 2 Ba(MnO4)2

K4[Fe(CN)6]

https://dl.doubtnut.com/l/_HxVc2P8vs4Uv
https://dl.doubtnut.com/l/_vz1F0TG48e7n
https://dl.doubtnut.com/l/_Vipi6bOZluii


A. 61

B. 1.6

C. 6.1

D. 61.1

Answer: C

Watch Video Solution

22. When  is oxidised by  in alkaline medium,  converts into

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

I − MnO
−
4 I −

IO−
3

I2

IO
−
4

IO−

https://dl.doubtnut.com/l/_Vipi6bOZluii
https://dl.doubtnut.com/l/_gl8fSFzKuRYN


23. Consideratitration of potassium dichromate solution with acidified

Mohr's salt solution using diphenylamine as indicator. The number of

moles of Mohr's salt required per mole of dichromate is

A. 3

B. 4

C. 5

D. 6

Answer: D

Watch Video Solution

24. Amount of oxalic acid present in a solution can be determined by its

titration with  solution in the presence of . The titration

gives unsatisfactory result when carried out in the presence of ,

because 

KMnO4 H2SO4

HCl

HCl

https://dl.doubtnut.com/l/_gl8fSFzKuRYN
https://dl.doubtnut.com/l/_iZpyjIUv6HNj
https://dl.doubtnut.com/l/_NdKjHGzlsV5y


A. gets oxidized by oxalic acid to chlorine

B. furnishes  ions in addition to those from oxalic acid.

C. reduces permanganate to 

D. oxidizes oxalic acid to carbon dioxide and water

Answer: C

Watch Video Solution

H +

Mn2 +

25. In the oxidation of sulphite to sulphate using permanganate, the

number of  ions in the balanced equation is:

A. 5

B. 2

C. 6

D. 3

Answer: C

H +

https://dl.doubtnut.com/l/_NdKjHGzlsV5y
https://dl.doubtnut.com/l/_ot3yGOGZql6t


Watch Video Solution

26. Which ordering of compounds is according to the decreasing order of

the oxidation state of nitrogen?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

HNO3, NO, NH4Cl, N2

HNO3, NO, N2, NH4Cl

HNO3, NH4Cl, NO, N2

NO, HNO3, NH4Cl, N2

27. In which of the following reactions  acts as a reducing agent? 


 


H2O2

i)H2O2 + 2H + + 2e− → 2H2O    ii)H2O2 − 2e− → O2 + 2H +

iii)H2O2 + 2e− → 2OH −    iv)H2O2 + 2OH − − 2e− → O2 + 2H2O

https://dl.doubtnut.com/l/_ot3yGOGZql6t
https://dl.doubtnut.com/l/_bumimjFabCfw
https://dl.doubtnut.com/l/_lhGLf9C5fhwv


A. a,c

B. b, d

C. a, b

D. c, d

Answer: B

Watch Video Solution

28. The oxidation state of nitrogen is correctly given for

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Compound Oxidation state

[Co(NH3)5Cl]Cl2 0

Compound Oxidation state

NH2OH −2

Compound Oxidation state

(N2H5)2SO4 +2

Compound Oxidation state

Mg3N2 −3

https://dl.doubtnut.com/l/_lhGLf9C5fhwv
https://dl.doubtnut.com/l/_TaCJHC3JmNkV


29. In the reaction,

A. Bromine is oxidised and carbonate is reduced

B. Bromine is reduced and water is oxidised

C. Bromine is neither reduced nor oxidised

D. Bromine is both reduced and oxidised

Answer: D

Watch Video Solution

3Br2 + 6CO2 −
3 + 3H2O → 5BrΘ + BrOΘ

3 + 6HCOΘ
3

30. Which of the following is not a disproportionation reaction? 

 


A. I, II

I)NH4NO3

Å
−−→ N2O + H2O    II)P4

Å
−−→ PH3 + HPOΘ

2

III)PCl5
Å

−−→ PCl3 + Cl2     IV)IOΘ
3 + I Θ → I2

https://dl.doubtnut.com/l/_TaCJHC3JmNkV
https://dl.doubtnut.com/l/_5LyeomDjGUcu
https://dl.doubtnut.com/l/_0LAna6ON10Wu


B. I, III, IV

C. II, IV

D. I, III

Answer: B

Watch Video Solution

31. When  acts as an oxidising agent and ultimately form 

, and , then the numbers of electrons

transferred in each case, respectively, are

A. 4, 3, 1, 5

B. 1,5, 3, 7

C. 1,3,4,5

D. 3, 5, 7, 1

Answer: C

KMnO4

MnO
2 −
4 , MnO2, Mn2O3 Mn2 +

https://dl.doubtnut.com/l/_0LAna6ON10Wu
https://dl.doubtnut.com/l/_6FWMNuaWTZXV


Watch Video Solution

32. The oxidation states of the most electronegative element in the

products of the reaction between  and  are

A. 0 and 1

B. 

C. 

D. 

Answer: B

Watch Video Solution

BaO2 H2SO4

−1 and − 2

−2 and 0

−2 and + 1

33. In the compound  which shows super conductivity, what

is the oxidation state of Cu? Assume that the rare earth element yttrium

is in its usual +3 oxidation state.

YBa2Cu3O7

https://dl.doubtnut.com/l/_6FWMNuaWTZXV
https://dl.doubtnut.com/l/_50uJsFJh434n
https://dl.doubtnut.com/l/_z5Og7NXGc0bb


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

+
7

3

−
7

3

5

3

−
5

3

34. Oxidation states of the metal in the minerals haematite and

magnetite, respectively, are

A. II, III in haematite and III in magnetite

B. II, III in haematite and II in magnetite

C. II in haematite and II, III in magnetite

D. III in haematite and II, III in magnetite

Answer: D

https://dl.doubtnut.com/l/_z5Og7NXGc0bb
https://dl.doubtnut.com/l/_GCExs2yNnWE5


Watch Video Solution

35. Which of the following can act as an oxidising agent as well as a

reducing agent? 

A. 1,2,3

B. 2,3,4

C. 1,3,4

D. All

Answer: C

Watch Video Solution

1. H2O2   2. H2S    3. SO2    4. HNO2

36. In balancing the half reaction,  (skeletal) 


The number of electrons that must be added is

CN Θ → CNOΘ

https://dl.doubtnut.com/l/_GCExs2yNnWE5
https://dl.doubtnut.com/l/_sPkZKfaJdRxa
https://dl.doubtnut.com/l/_lzcFdVsqre2H


A. 1 on the right

B. 0

C. 1 on the left

D. 2 on the right

Answer: D

Watch Video Solution

37. In which of the following pairs of compounds, nitrogen has maximum

positive and maximum negative values of oxidation number?

A.  and 

B.  and 

C.  and 

D.  and 

Answer: B

NH3 HN3

HNO3 HCN

N2O NH2OH

N2O4 NO2

https://dl.doubtnut.com/l/_lzcFdVsqre2H
https://dl.doubtnut.com/l/_kFT4H4zq6JmE


Watch Video Solution

38. In the reaction

 the

value of x and y, respectively, are

A. 2,1

B. 3,3

C. 4,5

D. 5,7

Answer: C

Watch Video Solution

C2H5OH + xI2 + 6OH − → CHI3 + HCO−
2 + yI − + 5H2O

39. The stoichiometric numbers appearing from left to right in the

reaction 

 areMnO
2 −
4 + H + → MnO

−
4 + MnO2 + H2O

https://dl.doubtnut.com/l/_kFT4H4zq6JmE
https://dl.doubtnut.com/l/_TwyFHd43g4RA
https://dl.doubtnut.com/l/_nIe8jYhb5QcW


A. 3, 2, 2, 1,2

B. 3, 4, 2, 1, 2

C. 2, 4, 1, 2, 2

D. 2, 3, 1, 1, 2

Answer: B

Watch Video Solution

40. Oxidation number of oxygen in potassium superoxide is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

−0.5

1

−1.5

2

https://dl.doubtnut.com/l/_nIe8jYhb5QcW
https://dl.doubtnut.com/l/_jxQRiUkxW8P3


41. Given are the nickel compounds  and 

. The order of compounds having increasing oxidation

number of nickel is : ,

,

,

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Ni(CO4), K2[NiF6)

K2[Ni(CN)4]

Ni(CO)4 < K2[NiF6] < K2[Ni(CN)4]

Ni(CO)4 < K2[Ni(CN)4] < K2[NiF6]

K2[Ni(CN)6] < K2[NiF6] < Ni(CO)4

K2[Ni(CN)6] < Ni(CO)4 < K2[NiF6]

Ni(CO)4 < K2[NiF6] < K2[Ni(CN)4]

Ni(CO)4 < K2[Ni(CN)4] < K2[NiF6]

K2[Ni(CN)6] < K2[NiF6] < Ni(CO)4

K2[Ni(CN)6] < Ni(CO)4 < K2[NiF6]

42. Which one of the following equations represents a redox reaction?

https://dl.doubtnut.com/l/_jxQRiUkxW8P3
https://dl.doubtnut.com/l/_6o6NY19XziYF
https://dl.doubtnut.com/l/_9gvfpCgjStQ1


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

PCl3 + 3H2O → H3PO3 + 3HCl

2NF2H + 2KF → 2KHF2 + N2F2

NI3 + 3H2O + HI → 2HOI + NH4OH + I2

2KI + Pb(NO3)2 → PbI2 + 2KNO3

43. In the reaction (not balanced),

which of the following is/are true? 

I)  is a reducing agent 


II) Iodine is an oxidizing agent 

III) It is an example of intermolecular redox reaction 

IV) In , the average oxidation state of S is (+5/2)

A. I, II, IV

B. I, II

Na2S2O3 + I2 → Na2S4O6 + NaI

Na2S2O3

Na2S4O6

https://dl.doubtnut.com/l/_9gvfpCgjStQ1
https://dl.doubtnut.com/l/_Ddqnc3C67u5T


C. I, II, III

D. I, II, III, IV

Answer: D

Watch Video Solution

44. How many electrons are involved in the following redox reaction? 

 (acidic medium)

A. 3

B. 4

C. 6

D. 5

Answer: C

Watch Video Solution

Cr2O
2 −
7 + Fe2 + + C2O

2 −
4 → Cr3 + + Fe3 + + CO2

https://dl.doubtnut.com/l/_Ddqnc3C67u5T
https://dl.doubtnut.com/l/_8XipAl9fifpx
https://dl.doubtnut.com/l/_kMd7TAZ6EVmH


45. Consider the chemical change which is occuring in basic medium :

 


The correct statement is

A.  is acting as an oxidizing agent in the reaction

B. 3 mol of  are required per mole of 

C. The electrons transferred per mol of  reduce 1.33 mol of 

D. 5 mol of electrons are gained by per mole of 

Answer: C

Watch Video Solution

CIO−
3 + N2H4 → NO + Cl− + H2O

N2H4

N2H4 CIO−
3

N2H4

ClO−
3

ClO−
3

46. Consider the redox reaction in acidic medium: 

 .Choose the correct statement from

the following:

Mn2 + + BiO−
3 → MnO

−
4 + Bi3 +

https://dl.doubtnut.com/l/_kMd7TAZ6EVmH
https://dl.doubtnut.com/l/_OSiNQQqzPFcY


A. The total electrons involved in the balanced chemical equation is 5

B. Two moles of electrons are donated by per mole of 

C. 2.8 mol of  are required for the change one mole of  to 

D. Acid is used as reducing agent in this reaction

Answer: C

Watch Video Solution

BiO−
3

H + BiO−
3

Bi3 +

47. How many moles of  are required in the acidic medium for

complete oxidation of 15 mol of ?

A. 2

B. 3

C. 4

D. 5

KMnO4

FeSO4

https://dl.doubtnut.com/l/_OSiNQQqzPFcY
https://dl.doubtnut.com/l/_uBY65YU3uQzZ


Answer: B

Watch Video Solution

48. When copper is treated with a certain concentration of nitric acid,

nitric oxide and nitrogen dioxide is liberated in equal volumes according

to the equation,  .

The coefficient of 'x’ and 'y' are

A. 2 and 3

B. 2 and 6

C. 1 and 3

D. 3 and 8

Answer: B

Watch Video Solution

xCu + yHNO3 → Cu(NO3)2 + NO + NO2 + H2O

https://dl.doubtnut.com/l/_uBY65YU3uQzZ
https://dl.doubtnut.com/l/_hz89geOYPjFV


49. If mol of a solution containing an ion  requires 

 mol of  for the oxidation of  to  in acid

medium, what is the value of n?

A. 3

B. 5

C. 2

D. 4

Answer: C

Watch Video Solution

2.68 × 10− 3 An+

1.6 × 10− 3 MnO
−
4 An+ AO−

3

50. Consider the reaction:

Which of the following statements is correct?

A.  is the oxidizing agent because it undergoes oxidation

H2SO3(aq) + Sn4 + (aq) + H2O(l) → Sn2 + (aq) + HSO
−
4 (aq) + 3H + (aq

Sn4 +

https://dl.doubtnut.com/l/_Hh8CcY2gOhS6
https://dl.doubtnut.com/l/_lvKSmM1zsSVD


Level Ii Assertion Reason Type

B.  is the reducing agent because it undergoes oxidation

C.  is reducing agent because it undergoes oxidation

D.  is the oxidising agent because it undergoes reduction

Answer: C

Watch Video Solution

Sn4 +

H2SO3

H2SO3

1. Assertion : Conversion of potassium ferrocyanide to potassium

ferricyanide is an oxidation process. 

Reason : Oxidation is the addition of an electronegative element to a

substance or removal of an electropositive element from a substance. : If

both (A) and (R) are correct and (R) is the correct explanation of (A).,
 If

both (A) and (R) are correct, but (R) is not the correct explanation of (A).,

If (A) is correct, but (R) is incorrect.,
 If both (A) and (R) are incorrect.

https://dl.doubtnut.com/l/_lvKSmM1zsSVD
https://dl.doubtnut.com/l/_ctNbDQDl8OtU


A. If both (A) and (R) are correct and (R) is the correct explanation of

(A).

B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: A

Watch Video Solution

2. Assertion : Displacement reactions of chlorine, bromine and iodine

using fluorine are not generally carried out in aqueous solution. 

Reason : Fluorine being highly reactive attacks water and displaces the

oxygen of water. : If both (A) and (R) are correct and (R) is the correct

explanation of (A).,
 If both (A) and (R) are correct, but (R) is not the

correct explanation of (A),.
 If (A) is correct, but (R) is incorrect.,
 If both (A)

and (R) are incorrect.

https://dl.doubtnut.com/l/_ctNbDQDl8OtU
https://dl.doubtnut.com/l/_z9skFaGKXiCi


A. If both (A) and (R) are correct and (R) is the correct explanation of

(A).

B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: A

Watch Video Solution

3. Assertion : All halogens undergo disproportionation reaction in

alkaline medium. 

Reason : All halogens exhibit variable oxidation states. If both (A) and (R)

are correct and (R) is the correct explanation of (A).,
 If both (A) and (R) are

correct, but (R) is not the correct explanation of (A).,
 If (A) is correct, but

(R) is incorrect.,
 If both (A) and (R) are incorrect.

https://dl.doubtnut.com/l/_z9skFaGKXiCi
https://dl.doubtnut.com/l/_I3nu6raGnc9W


A. If both (A) and (R) are correct and (R) is the correct explanation of

(A).

B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: D

Watch Video Solution

4. Assertion :  does not show disproportionation reaction. 


Reason : In , chlorine is present in its highest oxidation state.

A. If both (A) and (R) are correct and (R) is the correct explanation of

(A).

ClO
−
4

ClO
−
4

https://dl.doubtnut.com/l/_I3nu6raGnc9W
https://dl.doubtnut.com/l/_s5qu92H604CM


B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: A

Watch Video Solution

5. Assertion : Oxygen atom in both,  and  has an oxidation number

of -2. 

Reason : Oxygen is assigned an oxidation number-2 in all of its

compounds.

A. If both (A) and (R) are correct and (R) is the correct explanation of

(A).

B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

O2 O3

https://dl.doubtnut.com/l/_s5qu92H604CM
https://dl.doubtnut.com/l/_sGVsprGErf9g


C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: D

Watch Video Solution

6. Assertion : Nitrous acid  may act as an oxidising as well as a

reducing agent. 

Reason : The oxidation number of nitrogen remains same in all the

compounds.

A. If both (A) and (R) are correct and (R) is the correct explanation of

(A).

B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

(HNO3)

https://dl.doubtnut.com/l/_sGVsprGErf9g
https://dl.doubtnut.com/l/_gItZb6hcjJKP


Answer: C

Watch Video Solution

7. Assertion : Oxidation number of carbon in  is zero. 


Reason : , formaldehyde, is a covalent compound.

A. If both (A) and (R) are correct and (R) is the correct explanation of

(A).

B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: B

Watch Video Solution

CH2O

CH2O

https://dl.doubtnut.com/l/_gItZb6hcjJKP
https://dl.doubtnut.com/l/_JIpf4z98dHfd
https://dl.doubtnut.com/l/_QyPipXlIDfSE


8. Assertion : Copper forms complexes  but not . 


Reason .  is not stable because  is oxidant and  is

reductant.

A. If both (A) and (R) are correct and (R) is the correct explanation of

(A).

B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: A

Watch Video Solution

[CuCl4]2 − [CuI4]2 −

[CuI4]2 −
Cu2 + I −

9. Assertion : In azide ion average oxidation number of N is -1/3. 

Reason : In azide ion two Natoms have zero oxidation number and one

has oxidation number-1.

https://dl.doubtnut.com/l/_QyPipXlIDfSE
https://dl.doubtnut.com/l/_XJaQZjCO1u89


A. If both (A) and (R) are correct and (R) is the correct explanation of

(A).

B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: A

Watch Video Solution

10. Assertion : If a strong acid is added to a solution of potassium

chromate it changes its colour from yellow to orange. 

Reason : The colour change is due to the oxidation of potassium

chromate.

A. If both (A) and (R) are correct and (R) is the correct explanation of

(A).

https://dl.doubtnut.com/l/_XJaQZjCO1u89
https://dl.doubtnut.com/l/_xdPlndP4ufxe


B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: C

Watch Video Solution

11. Assertion : Hydrogen peroxide acts only as oxidising agent. 

Reason : All peroxides behave as the oxidising agent only.

A. If both (A) and (R) are correct and (R) is the correct explanation of

(A).

B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

C. If (A) is correct, but (R) is incorrect.

https://dl.doubtnut.com/l/_xdPlndP4ufxe
https://dl.doubtnut.com/l/_tfoGH1P1gX2u


D. If both (A) and (R) are incorrect.

Answer: D

Watch Video Solution

12. Assertion : Iodine shows oxidation state of +1 and +3 in the

compounds  and  respectively. 


Reason : Iodine coming below the halogens F, Cl and Br in the halogen

group of elements in the periodic table shows a higher degree of

electropositive nature.

A. If both (A) and (R) are correct and (R) is the correct explanation of

(A).

B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

ICl ICl3

https://dl.doubtnut.com/l/_tfoGH1P1gX2u
https://dl.doubtnut.com/l/_P6ke02rMZnMU


Answer: A

Watch Video Solution

13. Assertion : Among halogens fluorine is the best oxidant. 

Reason : Fluorine is the most electronegative atom.

A. If both (A) and (R) are correct and (R) is the correct explanation of

(A).

B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_P6ke02rMZnMU
https://dl.doubtnut.com/l/_msg0Wv2fk17Y
https://dl.doubtnut.com/l/_alnLAHmIxZnP


14. Assertion : In the reaction between potassium permanganate and

potassium iodide, permanganate ions act as oxidising agent . 

Reason : Oxidation state of manganese changes from +2 to +7 during the

reaction.

A. If both (A) and (R) are correct and (R) is the correct explanation of

(A).

B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: C

Watch Video Solution

15. Assertion : The decomposition of hydrogen peroxide to form water

and oxygen is an example of disproportionation reaction. 

https://dl.doubtnut.com/l/_alnLAHmIxZnP
https://dl.doubtnut.com/l/_vFgSggDBzTJ5


Reason : The oxygen of peroxide is in-1 oxidation state and it is.converted

to zero oxidation state in  and -2 oxidation state in .

A. If both (A) and (R) are correct and (R) is the correct explanation of

(A).

B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: A

Watch Video Solution

O2 H2O

16. Assertion :  cannot act as reducing agent. 


Reason : Sulphur cannot increase its oxidation number beyond +6.

H2SO4

https://dl.doubtnut.com/l/_vFgSggDBzTJ5
https://dl.doubtnut.com/l/_TfPCRzXAtMgj


A. If both (A) and (R) are correct and (R) is the correct explanation of

(A).

B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: A

Watch Video Solution

17. Assertion :  is a stronger acid than  


Reason : Oxidation state of chlorine in  is +7 and in  is +5.

A. If both (A) and (R) are correct and (R) is the correct explanation of

(A).

HClO4 HClO3

HClO4 HClO3

https://dl.doubtnut.com/l/_TfPCRzXAtMgj
https://dl.doubtnut.com/l/_LOtlh0se7wSI


B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: A

Watch Video Solution

18. Assertion : N atom has two different oxidation states in . 


Reason : One N atom has-ve oxidation number, as it is attached with less

electronegative H atom andother has +ve oxidation number as it is

attached with more electronegative atom.

A. If both (A) and (R) are correct and (R) is the correct explanation of

(A).

B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

NH4NO2

https://dl.doubtnut.com/l/_LOtlh0se7wSI
https://dl.doubtnut.com/l/_XCiwVJjEm6PG


C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: A

Watch Video Solution

19. Assertion :  can be used as reductant as well as oxidant. 


Reason : The oxidation number of S is +4 in  which lies in between its

minimum (-2) and maximum (+6) values .

A. If both (A) and (R) are correct and (R) is the correct explanation of

(A).

B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

SO2

SO2

https://dl.doubtnut.com/l/_XCiwVJjEm6PG
https://dl.doubtnut.com/l/_9AAIC9aN6AvO


Answer: A

Watch Video Solution

20. Assertion : The two Fe atoms in , have different oxidation

numbers. 

Reason :  ions decolourise  solution.

A. If both (A) and (R) are correct and (R) is the correct explanation of

(A).

B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: B

Watch Video Solution

Fe3O4

Fe2 + KMnO4

https://dl.doubtnut.com/l/_9AAIC9aN6AvO
https://dl.doubtnut.com/l/_uDAZyPI2r81a


Question

1. Find out the oxidation number of 

Watch Video Solution

C  in CO2

2. Find out the oxidation number of 

Watch Video Solution

Cr  inCr2O
2 −
7

3. Find out the oxidation number of 

Watch Video Solution

Pb  in Pb3O4

https://dl.doubtnut.com/l/_kgt6LXZqOolx
https://dl.doubtnut.com/l/_WE54Jo6FEokA
https://dl.doubtnut.com/l/_GBsmKlSrjniV


4. What is the oxidation number of iodine in the following compound: 

Watch Video Solution

KI

5. What is the oxidation number of iodine in the following compound: 

Watch Video Solution

I2

6. What is the oxidation number of iodine in the following compounds: 

Watch Video Solution

ICl

7. What is the oxidation number of iodine in the following compounds: 

IF5

https://dl.doubtnut.com/l/_ABBzOxRrSWt9
https://dl.doubtnut.com/l/_iUmhOgbB53dd
https://dl.doubtnut.com/l/_KN0aoUs02H5G
https://dl.doubtnut.com/l/_FtyloY79kpZk


Watch Video Solution

8. What is the oxidation number of iodine in the following compounds: 

Watch Video Solution

HIO4

9. Find the oxidation number of Mn, Cr and Cl in  and 

 respectively.

Watch Video Solution

KMnO4, K2Cr2O7

KClO4

10. Valency of C is 4 but its O.N. vary from -4 to +4. is it true or false?

Watch Video Solution

https://dl.doubtnut.com/l/_FtyloY79kpZk
https://dl.doubtnut.com/l/_IvYvK9BRYhzj
https://dl.doubtnut.com/l/_aOdGWZIr2yZu
https://dl.doubtnut.com/l/_cOKvwUNlEqhy


11. Write the net ionic equation for the reaction of potassium dichromate

(VI),  with ferrous sulphate  in sulphuric acid to ferric 

 ion and chromium(III) ion.

Watch Video Solution

K2Cr2O7 (FeSO4)

(Fe3 + )

12. Permanganate ion reacts with bromide ion in basic medium to give

manganese dioxide and bromate ion. Write the balanced equation for the

reaction using oxidation number method. 

Skeletal equation is 

Watch Video Solution

MnO
−
4 + Br− → MnO2 + BrO−

3

13. Write the balanced ionic equation for the reaction of zinc with conc.

nitric acid to produce zinc nitrate, nitrogen dioxide and water:

Watch Video Solution

https://dl.doubtnut.com/l/_zhxuz2WFkIq8
https://dl.doubtnut.com/l/_XCqxcgRfM2DK
https://dl.doubtnut.com/l/_P3F9EWWO6rx6


Level I

14. Write ionic equation for the reaction between  ions and 

 ions in acidic medium?

Watch Video Solution

Cr2O
2 −
7

Fe2 +

15. Give the balanced ionic equation for the oxidation of  by 

ions in basic medium to produce molecular iodine  and manganese

(IV) oxide .

Watch Video Solution

I − MnO
−
4

(I2)

(MnO2)

1. In which  acts as oxidant, while reacting with:

A. acidified 

B. acidified 

SO2

KMnO4

K2Cr2O2

https://dl.doubtnut.com/l/_KgjkquJ6KmBG
https://dl.doubtnut.com/l/_dMaaruEgfd4r
https://dl.doubtnut.com/l/_Jty04zWMrAry


C. 

D. acidified 

Answer: C

Watch Video Solution

H2S

C2H5OH

2. Oxidation number of carbon in  are respectively:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

C3O2, Mg2C3

−4/3, + 4/3

+4/3, − 4/3

−2/3, + 2/3

−2/3, + 4/3

https://dl.doubtnut.com/l/_Jty04zWMrAry
https://dl.doubtnut.com/l/_7bPjwLAcQFYh


3. A sulphur containing species that cannot be an oxidising agent is :

, , , 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H2SO4 H2S SO2 H2SO3

H2SO4

H2S

SO2

H2SO3

4. The oxidation number of  in  is:

A. 

B. 

C. 

D. zero

Cr [Cr(NH3)4Cl2]
+

+3

+2

+1

https://dl.doubtnut.com/l/_kwZ87ztAQfTM
https://dl.doubtnut.com/l/_27E3FXTssqZL


Answer: A

Watch Video Solution

5. The oxidation states of the most electronegative element in the

products of the reaction between  and  are

A. 0 and -1

B. 

C. 

D. 

Answer: B

Watch Video Solution

BaO2 H2SO4

−1 and − 2

−2 and 0

−2 and + 1

6. In which of the following compounds, the oxidation number of iodine is

fractional?

https://dl.doubtnut.com/l/_27E3FXTssqZL
https://dl.doubtnut.com/l/_JTptHAajP8Sq
https://dl.doubtnut.com/l/_vPsdZraVKMh4


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

IF7

I −
3

IF5

IF5

7. Which of the following processes does not involve oxidation of iron?

A. Decolourization of blue  solution by iron

B. Formation of  from Fe

C. Liberation of  from steam by iron at high temperature

D. Rusting of iron sheets

Answer: B

Watch Video Solution

CuSO4

Fe(CO)5

H2

https://dl.doubtnut.com/l/_vPsdZraVKMh4
https://dl.doubtnut.com/l/_ZjLlyixsceHE


8.  undergoes disproportionation reaction in acidic medium but 

 does not because

A. In  Mn is in intermediate oxidation state

B. In  ,Mn is in lowest oxidation state

C. In  Mn is in intermediate oxidation state

D. None of the above

Answer: A

Watch Video Solution

MnO
2 −
4

MnO
−
4

MnO
3 −
4

MnO
−
4

Mno
−
4

9. In half reaction:  .The number of electrons that must

be added:

A. 2, on right side

B. 2, on left side

S2O
2 −
3 → S4O

2 −
6

https://dl.doubtnut.com/l/_ZjLlyixsceHE
https://dl.doubtnut.com/l/_JEWNxSDdIUei
https://dl.doubtnut.com/l/_AKdqXKTCpe3o


C. 3, on right side

D. 4, on left side

Answer: A

Watch Video Solution

10. Which of the following chemical reactions depicts the oxidizing

behaviour of  ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

H2SO4

2HI + H2SO4 → I2SO2 + 2H2O

Ca(OH)2 + H2SO4 → CaSO4 + 2H2O

NaCl = H2SO4 → NaHSO4 + HCI

2PCl5 + H2SO4 → 2POCl5 + 2HCl + SO2Cl2

https://dl.doubtnut.com/l/_AKdqXKTCpe3o
https://dl.doubtnut.com/l/_9pa1kaTDYzWa
https://dl.doubtnut.com/l/_dTGvf0HRD737


11. In which of the following changes, there is transfer of five electrons?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

MnO
−
4 → MnMn2 +

CrO
2 −
4 → Cr3 +

MnO
2 −
4 → MnO2

Cr2O
2 −
7 → 2Cr3 +

12. The following reaction describes the production of metallic iron:

 How many electrons are lost by each

carbon atom in this reaction?

A. 1

B. 2

C. 3

2Fe2O3 + 3C → 4Fe + 3CO2

https://dl.doubtnut.com/l/_dTGvf0HRD737
https://dl.doubtnut.com/l/_8BYuWvsWsm3C


D. 4

Answer: D

Watch Video Solution

13. The correct order of compounds in the decreasing order based on the

oxidation state of oxygen in them is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

OF2 > HOF > KO > Sr(IO3)2

OF2 > KO2HOF > Sr(IO3)2

HOF > KO2 > Sr(IO3)2 > OF2

KO2 > OF2 > HOFgSr(IO3)2

https://dl.doubtnut.com/l/_8BYuWvsWsm3C
https://dl.doubtnut.com/l/_3oVSxYAZkvrm


14. Which products are expected from the disproportionation of

hypochlorous acid

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

HCIO3 and Cl2O

HCIO2 and HCIO4

HCl and Cl2O

HCl and HCIO3

15. The equivalent mass of oxidising agent in the following reaction is,

A. 32

B. 64

C. 16

SO2 + 2H2S → 3S + 2H2O

https://dl.doubtnut.com/l/_tZAa1qSdlXNJ
https://dl.doubtnut.com/l/_8qdoIaFw6q7N


D. 8

Answer: C

Watch Video Solution

16. Complete the balancing of the following half reaction, taking place in

basic media, How many electrons are needed to

balance it?

A. 2 electrons, left side

B. 2 electrons, right side

C. 4 electrons, right side

D. 6 electrons, right side

Answer: D

Watch Video Solution

Br− (aq) → BrO−
3 (aq)

https://dl.doubtnut.com/l/_8qdoIaFw6q7N
https://dl.doubtnut.com/l/_FrPM0Orhlysn
https://dl.doubtnut.com/l/_3BfOfCJMHw9K


17. Consider the metals: . Based on their reactivity

order, pick the correct statement

A. All five metals produce hydrogen gas on reacting with acids

B. Ag will substitute Cu from its aqueous solution

C. Mn will substitute Zn from its aqueous solution

D. Cu will substitute Mg from its aqueous solution

Answer: C

Watch Video Solution

Mn, Mg, Zn, Ag, Cu

18.  under atmospheric condition changes to  .If oxidation

number of S is +6, what is the value of x in  ?

A. 1

B. 2

C. 3

SO2 SO2 −
x

SO2 −
x

https://dl.doubtnut.com/l/_3BfOfCJMHw9K
https://dl.doubtnut.com/l/_d0e2D0ljdeMd


D. 4

Answer: D

Watch Video Solution

19. Equivalent weight of  (molecular weight=M) when it

disproportionates into  and  is

A. M

B. M/2

C. M/4

D. 3M/4

Answer: D

Watch Video Solution

H3PO2

PH3 H3PO3

https://dl.doubtnut.com/l/_d0e2D0ljdeMd
https://dl.doubtnut.com/l/_coSfGlNc1Y7U


20. In the reaction,

the change in the oxidation number of the chromium atom is

A. a decrease by six units

B. a decrease by three units

C. an increase by three units

D. an increase by five units

Answer: B

Watch Video Solution

C4H10 ( l ) + Cr2O
2 −
7 ( aq )

+ H +
( aq )

→ H6C4O4 ( s ) + Cr3 +
( aq )

+ H2O ( l )

21. Number of moles of , reduced by one mole of  ions is:

A. 

B. 

C. 

K2Cr2O7 Sn2 +

1/3

1/6

2/3

https://dl.doubtnut.com/l/_QviXNUyr5OCf
https://dl.doubtnut.com/l/_rcjmDor84U3W


D. 

Answer: A

Watch Video Solution

1

22. In the alkaline medium, the colour of potassium dichromate solution

changes from orange to yellow due to the formation of potassium

chromate. What is the change in oxidation state of chromium?

A. 1

B. 2

C. 3

D. 0

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_rcjmDor84U3W
https://dl.doubtnut.com/l/_YgZ0W98CNoTs
https://dl.doubtnut.com/l/_4UrXRI8kbMvX


23. A compound contains atoms of three elements A, B, and C. If the

oxidation number of A is +2, B is +5 and that of C is–2, the possible

formula of the compound is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

A3(BC4)2

A3(B4C)2

ABC2

A3(BC3)2

24.  acts as a reducing agent in

A. 

B. 

C. 

H2O2

FeCl2 + HCl + H2O → FeCl3 + H2O

Cl2 + H2O2 → 2Hcl + O2

2HI + H2O → I2 + H2O

https://dl.doubtnut.com/l/_4UrXRI8kbMvX
https://dl.doubtnut.com/l/_0wulMuMeXcQz


D. 

Answer: B

Watch Video Solution

H2SO3 + H2O2 → H2SO4 + H2O

25. Oxidation number of S in  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H2SO5

+8

+6

+4

+2

https://dl.doubtnut.com/l/_0wulMuMeXcQz
https://dl.doubtnut.com/l/_EOWlfdEpnWFn


26. Which one is not correct about the change given below?

A. Fe is oxidised  to 

B. Carbon is oxidised from  to 

C. N is oxidised from  to 

D. Carbon is not oxidised

Answer: D

Watch Video Solution

K4[Fe(CN)6]
oxi

−−→ Fe3 + + CO2 + NO−
3

Fe2 + Fe3 +

c2 + c4 +

N 3 N 5 +

27. Which of the following isintermolecular redox reaction?

A. 

B. 

C. 

2C6H5CHO
Al (OC2H5 ) 3

−−−−−−−→ C6H5COOH + C6H5CH2OH

4CrO5 + 6H2SO4 → 2Cr2(SO4)3 + 6H2O + 7O2

https://dl.doubtnut.com/l/_GhVSLPc5lAsg
https://dl.doubtnut.com/l/_H8qaLcfHX4cJ


D. 

Answer: D

Watch Video Solution

As2S3 + HNO3 → H3AsO4 + H2SO4 + NO

28. The oxidation number of sulphur in  and  are:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

S8, S2F2 H2S

0, + 1 and − 2

+1, + 1 and − 2

0, + 1, and + 2

−2, + 1 and − 2

https://dl.doubtnut.com/l/_H8qaLcfHX4cJ
https://dl.doubtnut.com/l/_ImoTtWiWvvf7


29. In a reaction, 4 mole of electrons are transferred to 1 mole of HNO3,

the possible productobtained due to reduction is:

A. 0.5 mole of 

B. 0.5 mole of 

C. 1 mole of 

D. 1 mole of 

Answer: B

Watch Video Solution

N2

N2O

NO2

NH3

30. The colour of changes from red-orange to lemon yellow on

treatment with aq.KOH because of:

A. Reduction of Cr (VI) to Cr(III)

B. Formation of chromium hydroxide

C. Conversion of dichromate into chromate ion

K2Cr2O7

https://dl.doubtnut.com/l/_ApUTXpocFP5C
https://dl.doubtnut.com/l/_mDKeGIT56RLg


D. Oxidation of potassium hydroxide to potassium peroxide

Answer: C

Watch Video Solution

31. One mole of hydrazine  loses 10 moles of electrons in a

reaction to form a new compound X. Assuming that all the nitrogen

atoms in hydrazine appear in the new compound, what is the oxidation

state of nitrogen in X ? (Note There is no change in the oxidation state of

hydrogen in the reaction)

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(N2H4)

−1

−3

+3

+5

https://dl.doubtnut.com/l/_mDKeGIT56RLg
https://dl.doubtnut.com/l/_cld7QwsaLTpF


32. For the redox reaction,

 


The correct coefficients of the reactants for the balanced reaction are:

Watch Video Solution

MnO
−
4 + C2O

2 −
4 + H + → Mn2 + + CO2 + H2O

33. The oxidation state of chromium in the final product formed in the

reaction between KI and acidified potassium dichromate solution is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

+4

+6

+2

+3

https://dl.doubtnut.com/l/_cld7QwsaLTpF
https://dl.doubtnut.com/l/_NxLhiIO7ofai
https://dl.doubtnut.com/l/_Wox5V8K3nLBK


34. Amongst the following, identify the species with an atom in +6

oxidation state:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

MnO
−
4

Ce(CN)3 −
6

NiF 2 −
6

CrO2Cl2

35. The reaction of white phosphorous with aqueous NaOH gives

phsophine along with another phosphorous containing compound. The

reaction type, the oxidation states of phosphorous in phosphine and the

other product are respectively:

A. redox reaction,–3 and -5

https://dl.doubtnut.com/l/_jhxdQlbtVpaB
https://dl.doubtnut.com/l/_JDK3bGHg9O6P


B. redox reaction, + 3 and + 5

C. disproportionation reaction, -3 and +1

D. disproportionation reaction, -3 and +3

Answer: C

Watch Video Solution

36. Hydrogen peroxide in its reaction with  and 

respectively, is acting as a:

A. reducing agent, oxidising agent

B. reducing agent, reducing agent

C. oxidising agent, oxidising agent

D. oxidising agent, reducing agent

Answer: A

Watch Video Solution

KIO4 NH2OH

https://dl.doubtnut.com/l/_JDK3bGHg9O6P
https://dl.doubtnut.com/l/_uBBKjUC5lPaF


37. Arrange the following in the increasing order of oxidation state of Mn:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(i)Mn2 +    (ii)MnO2    (iii)KMnO4     (iv)K2MnO4

(i) > (ii) > (iii) > (iv)

(i) < (ii) < (iv) < (iii)

(ii) < (iii) < (i) < (iv)

(iii) < (i) < (iv) < (ii)

38. Which of the following has least oxidation state of Fe?

A. 

B. 

C. 

K3[Fe(OH)6]

K2[FeO4]

FeSO4(NH4)2SO4. 6H2O

https://dl.doubtnut.com/l/_uBBKjUC5lPaF
https://dl.doubtnut.com/l/_qB7cr4nqPj7l
https://dl.doubtnut.com/l/_ts9JmmT9gdSn


D. 

Answer: C

Watch Video Solution

[Fe(CN)6]
3 −

39. In the reaction, , the number of

electrons transferred from reductant to oxidant is:

A. 8

B. 4

C. 16

D. 24

Answer: D

Watch Video Solution

8Al + 3Fe3O4 → 4Al2O3 + 9Fe

https://dl.doubtnut.com/l/_ts9JmmT9gdSn
https://dl.doubtnut.com/l/_QuftqXEWHRqz


40. In the balanced chemical reaction,

, a, b, c and d respectively

correspond to:

A. 5, 6, 3,3

B. 5, 3, 6,3

C. 3,5, 3,6

D. 5, 6, 5,5

Answer: A

Watch Video Solution

IO−
3 + aI − + bH + → cH2O + dI2

41. In alkaline medium  oxidises  to  and itself gets reduced

to  . How many moles of  are oxidized by 1 mole of  ?

A. 1

B. 

ClO2 H2O2 O2

Cl− H2O2 ClO2

1.5

https://dl.doubtnut.com/l/_49Y0LEIbEY8C
https://dl.doubtnut.com/l/_TvEcWKrk9Ty8


C. 

D. 

Answer: C

Watch Video Solution

2.5

3.5

42. The oxidation state of iodine in  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

IPO4

+1

+3

+5

+7

https://dl.doubtnut.com/l/_TvEcWKrk9Ty8
https://dl.doubtnut.com/l/_Za2jZQ2XOASO


43. In alkaline medium,  reacts with  and  separately to

give:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H2O2 Fe3 + Mn2 +

Fe4 + and Mn4 +

Fe2 + and Mn2 +

Fe3 + and Mn4 +

Fe4 + and Mn2 +

44. When hydrogen peroxide is added to acidified potassium dichromate,

a blue colour is produced due to formation of

A. 

B. 

C. 

CrO3

Cr2O3

CrO5

https://dl.doubtnut.com/l/_exW3LdWnr01X
https://dl.doubtnut.com/l/_wyF5nEL2BQa1


D. 

Answer: C

Watch Video Solution

CrO
2 −
4

45. Number of moles of  required to oxidise one mole of ferrous

oxalate completely in acid medium will be:

A. 7.5 moles

B. 0.2 moles

C. 0.6 moles

D. 0.4 moles

Answer: D

Watch Video Solution

MnO
−
4

https://dl.doubtnut.com/l/_wyF5nEL2BQa1
https://dl.doubtnut.com/l/_ssQIaMmEMHhw


46. Freshly prepared, bright blue coloured solution of sodium in liquid

ammonia can be used to reduce the organic functional moieties. In this,

the actual reducing species is:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

[Na(NH3)n]
+

[H2(NH3)n]

[NaNH2(NH3)n]

[e(NH3)n]
−

47. The oxidation number of nitrogen atoms in  are

A. 

B. 

C. 

NH4NO3

+3, + 3

+3, − 3

−3, + 5

https://dl.doubtnut.com/l/_Ckktky7HtCg0
https://dl.doubtnut.com/l/_FsHMgMaKdfzy


D. 

Answer: C

Watch Video Solution

−5, + 3

48. When methane is burnt in oxygen to produce  and , the

oxidation number of carbon changes by:

A. 

B. zero

C. 

D. 

Answer: C

Watch Video Solution

CO2 H2O

−8

+8

+4

https://dl.doubtnut.com/l/_FsHMgMaKdfzy
https://dl.doubtnut.com/l/_gCjTWcMxRf1Y


49. Which of the following reactions do not involve oxidation reduction? 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

I, II

I, III

I, III, IV

III, IV

50. In which of the following pairs is there the greatest difference in the

oxidation numbers of the underlined elements?

A. 

B. 

NO2 and N2O4

SO2 −
3 and SO

2 −
4

https://dl.doubtnut.com/l/_5oUNuUPX99MJ
https://dl.doubtnut.com/l/_c7lvuBvHKL3P


Level Ii

C. 

D. 

Answer: D

Watch Video Solution

S2 − and S2O
2 −
3

S2 − and SO
2 −
4

1. Which of the following is not a disproportionation reaction?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

P4 + 5
Ө

OH → H2PO
Ө

2
+ PH3

Cl2 +
Ө

OH → ClӨ + CIOӨ

2H2O2 → 2H2O + O2

Na2O2 + 2H2O → 2NaOH + H2O2

https://dl.doubtnut.com/l/_c7lvuBvHKL3P
https://dl.doubtnut.com/l/_vDKW4GOLIVuc


2. When  is passed through acidified solution of potassium

dichromate, then chromium sulphate is formed. The change in oxidation

number of chromium is:

A.  to 

B.  to +3

C.  to

D.  to +2

Answer: C

Watch Video Solution

SO2

+4 +2

+5

+6 +3

+7

3. Excess of KI reacts with  solution and then  solution is

added to it. Which of the statement is incorrect in this reaction?

A. Evolved I, is reduced

CuSO4 Na2S2O3

https://dl.doubtnut.com/l/_vDKW4GOLIVuc
https://dl.doubtnut.com/l/_NUS1QDOJzr5o
https://dl.doubtnut.com/l/_iYaGs8QeBa1a


B.  is formed

C. is oxidised

D. is formed

Answer: B

Watch Video Solution

Cul2

Na2S2O3

Cu2l2

4. The value of 'n' in,  is:

A. 5

B. 4

C. 3

D. 2

Answer: A

Watch Video Solution

MnO
−
4 + 8H + + ne → Mn2 + + 4H2O

https://dl.doubtnut.com/l/_iYaGs8QeBa1a
https://dl.doubtnut.com/l/_dthX9lHTct6O
https://dl.doubtnut.com/l/_DAWY6LN2Lbsa


5. When Sn (IV) chloride is treated with excess , the complex 

is formed. The oxidation state of Sn in this complex is:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

HCl

[SnCl6]2 −

+6

−2

+4

−5

6. A compound of Xe and F is found to have 53.3% Xe. Oxidation number

of Xe in this compound is:

A. 

B. zero

C. 

−4

+4

https://dl.doubtnut.com/l/_DAWY6LN2Lbsa
https://dl.doubtnut.com/l/_CahSWrxaVqsa


D. 

Answer: D

Watch Video Solution

+6

7. When the ion  acts as an oxidant in acidic aqueous solution

the ion  is formed. How many mole of  would be oxidised to 

 by one mole of ions?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Cr2O
2 −
7

Cr3 + Sn2 +

Sn4 + Cr2O
2 −
7

2/3

3/2

2

3

https://dl.doubtnut.com/l/_CahSWrxaVqsa
https://dl.doubtnut.com/l/_FGOY9Dbv3ylo
https://dl.doubtnut.com/l/_wyIDt0iyRrMQ


8. In a reaction, 4 mole of electrons are transferred to 1 mole of HNO3, the

possible productobtained due to reduction is:

A. (1/2) mole 

B. (1/2)mole 

C. mole of 

D. 1 mole 

Answer: B

Watch Video Solution

N2

N2O

NO2

NH3

9.  reacts with  according to equation: 

. The weight of 

required to react with 100 mL of solution containing 0.66 g of  is

A. 5.2 g

B. 4.57 g

NaIO3 NaHSO3

IO−
3 + 3HSO−

3 → I − + 3H + + 3SO2 −
4 NaHSO3

NaIO3

https://dl.doubtnut.com/l/_wyIDt0iyRrMQ
https://dl.doubtnut.com/l/_Cn9FOSvpy0PE


C. 2.3 g

D. 1.04 g

Answer: D

Watch Video Solution

10. The values of‘x' and 'y'in the following redox reaction are: - 

A. x = 2, y = 4

B. x = 5, y = 3

C. x=3, y=5

D. x = 4, y = 2

Answer: C

Watch Video Solution

xCI2 + 6OH − → ClO−
3 + yCl− + 3H2O

https://dl.doubtnut.com/l/_Cn9FOSvpy0PE
https://dl.doubtnut.com/l/_F1v6PU1n4evF
https://dl.doubtnut.com/l/_DcMc9nUEEQWH


11. A mixture of potassium chlorate, oxalic acid and sulphuric acid is

heated. During the reaction which element undergoes maximum change

in the oxidation number?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Cl

C

S

H

12. 

Role of hydrogen peroxide'in the above reactions is respectively:

A. oxidizing in(i) and reducing in(ii)

i)H2O2 + O3 → H2O + 2O2   ii)H2O2 + Ag2O → 2Ag + H2O + O2

https://dl.doubtnut.com/l/_DcMc9nUEEQWH
https://dl.doubtnut.com/l/_0vK0rQjMYGcF


B. reducing in (i) and oxidizing in (ii)

C. reducing in (i) and (ii)

D. oxidizing in(i) and (ii)

Answer: C

Watch Video Solution

13. In the unbalanced reaction:

 


If the stoichiometric coefficients of  and  are

w,x,yand z respectively, the numerical value are

A. 

B. 

C. 

D. 

Al + KMnO4 + H2SO4 → K2SO4 + Al2(SO4)3 + MnSO4 + H2O

Al, H2SO4MnSO4 H2O

2.0

1.6

1.2

2.4

https://dl.doubtnut.com/l/_0vK0rQjMYGcF
https://dl.doubtnut.com/l/_BHaaIjM7iTca


Answer: B

Watch Video Solution

14. The oxidation number of carbon is zero in 

A. I,II only

B. I,II ,III only

C. All

D. None

Answer: C

Watch Video Solution

I)HCHO   II)CH2CI2    III)C6H12O6    IV )C12H22O11

15. For the redox reaction,  in basic

medium, the coefficients of  and  in the balanced

Zn + NO−
3 → Zn2 + + NH

+
4

Zn, NO−
3 OH −

https://dl.doubtnut.com/l/_BHaaIjM7iTca
https://dl.doubtnut.com/l/_tdlXOJ9jSej1
https://dl.doubtnut.com/l/_6ldIiUld4Ugt


equation are respectively

A. 4,1,7

B. 7,4,1

C. 4,1,10

D. 1,4,10

Answer: C

Watch Video Solution

16. A solution containing  ions: The solution requires 22.6

mL of 0.02  in the presence of  for oxidation. The

resulting solution is neutralized and added excess KI. The iodine is

liberated according to this equation  The iodine

liberated requires 11.3 mL of 0.05 M  solution. The molar ratio of

 in solution is

A. 

Cu+ 2, C2O
− 2
4

MKMnO4 H2SO4

Cu2 + + I − → Cu2I2

Na2S2O3

Cu2 + , C2O
− 2
4

1: 1

https://dl.doubtnut.com/l/_6ldIiUld4Ugt
https://dl.doubtnut.com/l/_vxoaaYoFVRDE


B. 

C. 

D. 

Answer: B

Watch Video Solution

1: 2

2: 1

1: 3

17. 2 mole of  in acidic medium are oxidised by 'X' mole of 

whereas 2 mole of  are oxidised by ‘Y' mole of . The ratio

of 'X' and 'Y' is:

A. 

B. 

C. 

D. 

Answer: A

FeSO4 KMnO4

FeC2O4 KMnO4

1: 3

1: 2

1: 4

1: 5

https://dl.doubtnut.com/l/_vxoaaYoFVRDE
https://dl.doubtnut.com/l/_yKcYCwAlOHFD


Watch Video Solution

18. A solution of  is used for the reaction 

 .The volume of 

 requires to react of  is (MW=158) :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

0.1MKMnO4

S2O
− 2
3 + 2MnO

−
4 + H2O → MnO2 + SO

− 2
4 + OH −

KMnO4 0.158g Na2S2O3

13.33mL

6.66mL

3.33mL

26.67mL

19.  


The number of  ions in the balanced equation of the above redox

reaction is

C2O
2
4 − + MnO

−
4

H +

−−→ Mn2 + + CO2

H +

https://dl.doubtnut.com/l/_yKcYCwAlOHFD
https://dl.doubtnut.com/l/_uuxTTlHsjADN
https://dl.doubtnut.com/l/_MNHA0FHasxF2


A. 8

B. 6

C. 4

D. 2

Answer: B

Watch Video Solution

20. In the standardization of  using  by iodometry, the

equivalent mass of  is

A. (molar mass)/2

B. (molar mass)/6

C. (molar mass)/3

D. same as molar mass

Answer: B

Na2S2O3 K2Cr2O7

K2Cr2O7

https://dl.doubtnut.com/l/_MNHA0FHasxF2
https://dl.doubtnut.com/l/_lbm0nyIEX4bT


Watch Video Solution

21. In redox reaction,  oxidizes  into 

 ions in acidic medium, where 

itself reduces into  then how many moles of  will react

with 1 mole of 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Ba(MnO4)2 K4[Fe(CN)6]

Fe3 + , CO2 −
3 and NO−

3 Ba(MnO4)2

Mn+ 2 Ba(MnO4)2

K4[Fe(CN)6]

61

1.6

6.1

61.1

22. When  is oxidised by  in alkaline medium,  converts intoI − MnO
−
4 I −

https://dl.doubtnut.com/l/_lbm0nyIEX4bT
https://dl.doubtnut.com/l/_IA3lPxX0XoFR
https://dl.doubtnut.com/l/_gUIPW5LiyxMX


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

IO−
3

I2

IO
−
4

IO−

23. Consider a titration of potassium dichromate solution with acidified

Mohr's salt solution using diphenylamine as indicator. The number of

moles of Mohr's salt required per mole of dichromate' is

A. 3

B. 4

C. 5

D. 6

https://dl.doubtnut.com/l/_gUIPW5LiyxMX
https://dl.doubtnut.com/l/_Fcw6V3XIWIVI


Answer: D

Watch Video Solution

24. Amount of oxalic acid present in a solution can be determined by its

titration with  solution in the presence of . The titration

gives unsatisfactory result when carried out in the presence of ,

because 

A. gets oxidized by oxalic acid to chlorine

B. furnishes  ions in addition to those from oxalic acid

C. reduces permanganate to 

D. oxidizes oxalic acid to carbon dioxide and water

Answer: C

Watch Video Solution

KMnO4 H2SO4

HCl

HCl

H +

Mn2 +

https://dl.doubtnut.com/l/_Fcw6V3XIWIVI
https://dl.doubtnut.com/l/_lwuW5ga4b3yz


25. In the oxidation of sulphite to sulphate using permanganate, the

number of  ions in the balanced equation is:

A. 5

B. 2

C. 6

D. 3

Answer: C

Watch Video Solution

H +

26. Which ordering of compounds is according to the decreasing order of

the oxidation state of nitrogen?

A. 

B. 

C. 

HNO3, NO, NH4Cl, N2

HNO3, NO, N2, NH2Cl

HNO3, NH2Cl, NO, N2

https://dl.doubtnut.com/l/_hiwikubw7HRr
https://dl.doubtnut.com/l/_N8xK7gEfLqf3


D. 

Answer: B

Watch Video Solution

NO, HNO3NH4ClN2

27. In which of the following reactions  acts as a reducing agent? 


 


A. a,c

B. b,d

C. a,b

D. c,d

Answer: B

Watch Video Solution

H2O2

i)H2O2 + 2H + + 2e− → 2H2O    ii)H2O2 − 2e− → O2 + 2H +

iii)H2O2 + 2e− → 2OH −    iv)H2O2 + 2OH − − 2e− → O2 + 2H2O

https://dl.doubtnut.com/l/_N8xK7gEfLqf3
https://dl.doubtnut.com/l/_fbB92t1gAhCj
https://dl.doubtnut.com/l/_YtAzIoaJ3nEA


28. The oxidation state of nitrogen is correctly given for 

Watch Video Solution

29. In the reaction,

A. Bromine is oxidised and carbonate is reduced

B. Bromine is reduced and water is oxidised

C. Bromine is neither reduced nor oxidised

D. Bromine is both reduced and oxidised

Answer: D

Watch Video Solution

3Br2 + 6CO2 −
3 + 3H2O → 5BrΘ + BrOΘ

3 + 6HCOΘ
3

https://dl.doubtnut.com/l/_YtAzIoaJ3nEA
https://dl.doubtnut.com/l/_juL2p18O6OUk


30. Which of the following is not a disproportionation reaction? . 

A. I,II

B. I, III,IV

C. II,IV

D. I,III

Answer: B

Watch Video Solution

31. When  acts as an oxidising agent and ultimately form 

, and , then the numbers of electrons

transferred in each case, respectively, are

A. 4,3,1,5

KMnO4

MnO
2 −
4 , MnO2, Mn2O3 Mn2 +

https://dl.doubtnut.com/l/_juL2p18O6OUk
https://dl.doubtnut.com/l/_MvEeqmiwWziK
https://dl.doubtnut.com/l/_x1Kponhjke2I


B. 1,5, 3, 7

C. 1,3,4, 5

D. 3,5,7,1

Answer: C

Watch Video Solution

32. The oxidation states of the most electronegative element in the

products of the reaction between  and  are

A. 0 and -1

B. 

C. 

D. 

Answer: B

Watch Video Solution

BaO2 H2SO4

−1 and − 2

−2 and 0

−2 and + 1

https://dl.doubtnut.com/l/_x1Kponhjke2I
https://dl.doubtnut.com/l/_ArFckMSS3wek


33. In the compound  which shows super conductivity, what

is the oxidation state of Cu? Assume that the rare earth element yttrium

is in its usual +3 oxidation state.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

YBa2Cu3O7

+
7

3

−
7

3

5

3

−
5

3

34. Oxidation states of the metal in the minerals haematite and

magnetite, respectively, are

A. II, III in haematite and III in magnetite

https://dl.doubtnut.com/l/_ArFckMSS3wek
https://dl.doubtnut.com/l/_EnvEPkwXTXay
https://dl.doubtnut.com/l/_Vmx0P75IEDQU


B. I, III in haematite and II in magnetite

C. II in haematite and II, III in magnetite

D. III in haematite and II, III in magnetite

Answer: D

Watch Video Solution

35. Which of the following molecules can acts as oxidising as well as

reducing agent?

A. 1,2,3

B. 2,3,4

C. 1,3,4

D. All

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Vmx0P75IEDQU
https://dl.doubtnut.com/l/_McUn1IDIYY7H


36. In balancing the half reaction,  (skeletal) 


The number of electrons that must be added is

A. I on the right

B. 0

C. 1 on the left

D. 2 on the right

Answer: D

Watch Video Solution

CN Θ → CNOΘ

37. In which of the following pairs of compounds, nitrogen has maximum

positive and maximum negative values of oxidation number?

A. 

B. 

NH3 and HN3

HNO3 and HCN

https://dl.doubtnut.com/l/_McUn1IDIYY7H
https://dl.doubtnut.com/l/_Z9gRluAoU2yg
https://dl.doubtnut.com/l/_sayrpnV6PeXT


C. 

D. 

Answer: B

Watch Video Solution

N2O and NH2OH

N2O4 and NO2

38. In the reaction

 the

value of x and y, respectively, are

A. 2,1

B. 3,3

C. 4,5

D. 5,7

Answer: C

Watch Video Solution

C2H5OH + xI2 + 6OH − → CHI3 + HCO−
2 + yI − + 5H2O

https://dl.doubtnut.com/l/_sayrpnV6PeXT
https://dl.doubtnut.com/l/_YWp34l4bliSr


39. The stoichiometric numbers appearing from left to right in the

reaction 

 are

A. 3, 2, 2, 1,2

B. 3,4, 2, 1,2

C. 2, 4, 1, 2,2

D. 2,3,1, 1, 2

Answer: B

Watch Video Solution

MnO
2 −
4 + H + → MnO

−
4 + MnO2 + H2O

40. Oxidation number of oxygen in potassium superoxide is

A. 

B. 

−0.5

1

https://dl.doubtnut.com/l/_YWp34l4bliSr
https://dl.doubtnut.com/l/_lFTl6yhkZ2aY
https://dl.doubtnut.com/l/_I8Wr5DBippwM


C. 

D. 

Answer: A

Watch Video Solution

−1.5

2

41. Given are the nickel compounds  and 

. The order of compounds having increasing oxidation

number of nickel is : ,

,

,

A. 

B. 

C. 

D. 

Ni(CO4), K2[NiF6)

K2[Ni(CN)4]

Ni(CO)4 < K2[NiF6] < K2[Ni(CN)4]

Ni(CO)4 < K2[Ni(CN)4] < K2[NiF6]

K2[Ni(CN)6] < K2[NiF6] < Ni(CO)4

K2[Ni(CN)6] < Ni(CO)4 < K2[NiF6]

Ni(CO)2 < K2[NiF6] < K2[Ni(CN)4]

Ni(CO4) < K2[Ni(CN)4] < K2[NiF6]

K2[Ni(CN)6] < K2[NiF6] < Ni(CO)4

K2[Ni(CN)6] < (CO4) < K2[NiF6]

https://dl.doubtnut.com/l/_I8Wr5DBippwM
https://dl.doubtnut.com/l/_NzihUlVd4mV4


Answer: B

Watch Video Solution

42. Which one of the following equations represents a redox reaction?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

PCl3 + 3H2O → H3PO3 + 2HCl

2NF2 + H + 2KF → KHF2 < K2[NiF6]

K2[Ni(CN)6] < K2[NiF6] < Ni(CO)4

2KI + Pb(NO3)2 → PbI2 + 2KNO3

43. In the reaction (not balanced),

which of the following is/are true? 

I)  is a reducing agent 


Na2S2O3 + I2 → Na2S4O6 + NaI

Na2S2O3

https://dl.doubtnut.com/l/_NzihUlVd4mV4
https://dl.doubtnut.com/l/_DRqkaYBeNcFp
https://dl.doubtnut.com/l/_2PPBLUgDzznB


II) Iodine is an oxidizing agent 

III) It is an example of intermolecular redox reaction 

IV) In , the average oxidation state of S is (+5/2)

A. I,II,IV

B. I,II

C. I,II,III

D. I,II,III,IV

Answer: D

Watch Video Solution

Na2S4O6

44. How many electrons are involved in the following redox reaction? 

 (acidic medium)

A. 3

B. 4

C. 6

Cr2O
2 −
7 + Fe2 + + C2O

2 −
4 → Cr3 + + Fe3 + + CO2

https://dl.doubtnut.com/l/_2PPBLUgDzznB
https://dl.doubtnut.com/l/_vUQFZr96iyJZ


D. 5

Answer: C

Watch Video Solution

45. Consider the chemical change which is occuring in basic medium :

 


The correct statement is

A.  is acting as an oxidizing agent in the reaction

B. 3 mol of  are required per mole of 

C. The electrons transferred per mol of  reduce 1.33 mol of 

D. 5 mol of electrons are gained by per mole of 

Answer: C

Watch Video Solution

CIO−
3 + N2H4 → NO + Cl− + H2O

N2H4

N2H4 CIO−
3

N2H4

CIO−
3

CIO−
3

https://dl.doubtnut.com/l/_vUQFZr96iyJZ
https://dl.doubtnut.com/l/_98RHjNv4PPGX


46. Choose the incorrect statement in the following:

A. The total electrons involved in the balanced chemical equation is 5

B. Two moles of electrons are donated by per mole of 

C. 2.8 mol of  are required for the change one mole of  to 

D. Acid is used as reducing agent in this reaction

Answer: C

Watch Video Solution

BiO−
3

H + BiO−
3

Bi3 +

47. How many moles of  are required in the acidic medium for

complete oxidation of 15 mol of ?

A. 2

B. 3

KMnO4

FeSO4

https://dl.doubtnut.com/l/_98RHjNv4PPGX
https://dl.doubtnut.com/l/_W539kCwJusPy
https://dl.doubtnut.com/l/_nBdhkpqROK8R


C. 4

D. 5

Answer: B

Watch Video Solution

48. When copper is treated with a certain concentration of nitric acid,

nitric oxide and nitrogen dioxide is liberated in equal volumes according

to the equation,  .

The coefficient of 'x’ and 'y' are

A. 2 and 3.

B. 2 and 6

C. 1 and 3

D. 3 and 8

Answer: B

W t h Vid S l ti

xCu + yHNO3 → Cu(NO3)2 + NO + NO2 + H2O

https://dl.doubtnut.com/l/_nBdhkpqROK8R
https://dl.doubtnut.com/l/_gCu30az2YIQg


Watch Video Solution

49. If mol of a solution containing an ion  requires 

 mol of  for the oxidation of  to  in acid

medium, what is the value of n?

A. 3

B. 5

C. 2

D. 4

Answer: C

Watch Video Solution

2.68 × 10− 3 An+

1.6 × 10− 3 MnO
−
4 An+ AO−

3

50. Consider the reaction:

Which of the following statements is correct?

H2SO3(aq) + Sn4 + (aq) + H2O(l) → Sn2 + (aq) + HSO
−
4 (aq) + 3H + (aq

https://dl.doubtnut.com/l/_gCu30az2YIQg
https://dl.doubtnut.com/l/_mPlX7CJ4qk4r
https://dl.doubtnut.com/l/_0tgLlo0mWL28


Level Iii

A.  is the oxidizing agent because it undergoes oxidation

B.  is the reducing agent because it undergoes oxidation

C.  is reducing agent because it undergoes oxidation

D.  is the oxidising agent because it undergoes reduction

Answer: C

Watch Video Solution

Sn4 +

Sn4 +

H2SO3

H2SO3

1.  


The number of  ions in the balanced equation of the above redox

reaction is

A. 

B. 

C. 

C2O
2
4 − + MnO

−
4

H +

−−→ Mn2 + + CO2

H +

C2Cr2O
2 −
4

Fe2 +

SO
2 −
4

https://dl.doubtnut.com/l/_0tgLlo0mWL28
https://dl.doubtnut.com/l/_NFNe7j7r5xcH


D. 

Answer: C

Watch Video Solution

S2 −

2. 

The above equation balances when :

A. a=2, b=4, c=6 and x=2, y=6, z=3

B. a=4,b=2,c=6 and x = 6 y=2, z=3

C. a=6,b=4, c=2 and x=6, y=3,z=2

D. a= 1,b=4,c=6 and x=2, y=6, z= 3

Answer: D

Watch Video Solution

aK2Cr2O7 + bKCl + cH2SO4 → xCrO2Cl2 + yKHSO4 + zH2O.

https://dl.doubtnut.com/l/_NFNe7j7r5xcH
https://dl.doubtnut.com/l/_TTaVUvvBv1lX


3. In alkaline medium  oxidises  to  and itself gets reduced

to  . How many moles of  are oxidized by 1 mole of  ?

A. 1

B. 

C. 

D. 

Answer: C

Watch Video Solution

ClO2 H2O2 O2

Cl− H2O2 ClO2

3/2

5/2

7/2

4. Which of the following statements is wrong?

A. Acidified  solution decolourises on the addition of sodium

oxalate

B. In the reaction between  and  is an oxidising agent

and CSI is a reducing agent

KMnO4

Br2 Csl, Br2

https://dl.doubtnut.com/l/_cBAkaFZJ4G1u
https://dl.doubtnut.com/l/_wrWtEg95uagC


C. In the reaction , the change in the

oxidation number of S is 0.5.

D. C has the same oxidation number in both  and .

Answer: D

Watch Video Solution

2K2S2O3I2 → 2KI + K2S4O6

CH4 CO2

5. A sample of a chromium-containing alloy weighing 3.45 g was dissolved

in acid, and all the chromium in the sample was oxidized to  was

then found that 3.0 g of  was required to reduce the  to 

 in a basic solution, with . getting oxidized to . Then

which of the following statement is incorrect?

A. The percentage of chromium in alloy is 23.9%

B. Oxidation state of chromium changes from +6 to +4

C. 1.5 moles of  are consumed per mole of 

CrO
2 −
4

Na2SO3 CrO−
2

CrO
2 −
4 SO2 −

3 SO
2 −
4

SO2 −
3 CrO

2 −
4

https://dl.doubtnut.com/l/_wrWtEg95uagC
https://dl.doubtnut.com/l/_mCDLSx0gpYdS


D. One mole of base is involved to convert per mole of  in this

redox reaction.

Answer: B

Watch Video Solution

CrO
2 −
4

6. Metallic tin in the presence of HCl is oxidized by  to stannic

chloride. What volume of decinormal dichromate solution will be reduced

by I goftin? (Atomic weight of Sn=118.7u)

A. 336.9 mL

B. 235.6 mL

C. 465.23 mL

D. 398.56 mL

Answer: A

Watch Video Solution

K2Cr2O7

https://dl.doubtnut.com/l/_mCDLSx0gpYdS
https://dl.doubtnut.com/l/_dQvfa141EgiE


7. A polyvalent metal weighing 0.1 g and having atomic weight of 51g

reacted with dilute , to give 43.9 mL of hydrogen at STP The

solution containing the metal in this lower oxidation state, was found to

require 58.8 mL of 0.1 N  solution for complete oxidation. What

are oxidation state of metal?

A. 3 and 5

B. 3 and 3

C. 5 and 6

D. 2 and 5

Answer: D

Watch Video Solution

H2SO4

KMnO4

8. A 15.00 mL sample of a solution containing oxalic acid,  was

titrated with 0.02 M . The titration, required 18.30 mL of the 

H2C2O4

KMnO4

https://dl.doubtnut.com/l/_dQvfa141EgiE
https://dl.doubtnut.com/l/_XbiRHLqTJgnY
https://dl.doubtnut.com/l/_HmC7e3NwP9gt


 solution. What was the molarity of the  solution? In the

reaction, oxalate ion  is oxidized to  and  is reduced

to .

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

KMnO4 H2C2O4

(C2O
2 −
4 ) CO2 MnO

−
4

Mn2 +

0.082

0.061

0.061

0.82

9. Which of the following reactions should be balanced in basic medium?

A. 

B. 

C. 

NH3 + MnO
−
4 → MnO2 + NO2

Cr(OH)2 + I2 → Cr(OH)3 + 2I −

HNO3 + Fe2 + → Fe3 + + NO2

https://dl.doubtnut.com/l/_HmC7e3NwP9gt
https://dl.doubtnut.com/l/_shYFF3iowUjF


D. 

Answer: A::B

Watch Video Solution

H2O2 + Fe3 + → O2 + Fe2 +

10. For the reaction:  The

correct statements in the balanced equation are:

A. stoichiometric coefficient of  is 6

B. iodine is oxidised

C. sulphur is reduced

D.  is one of the products

Answer: A::B::D

Watch Video Solution

I − + CIO−
3 + H2SO4 → Cl− + HSO

−
4 + I2

HSO
−
4

H2O

https://dl.doubtnut.com/l/_shYFF3iowUjF
https://dl.doubtnut.com/l/_QYJEJRAg93Wp


11. Which of the following are redox reactions?

A. 

B. 

C. 

D. 

Answer: A::B::C

Watch Video Solution

H2 + I2 → HI
1

2

1

2

PCl5 → PCl3 + Cl2

2CuSO4 + 4KI → Cu2I2 + 2K2SO4 + I2

CaOCl2 → Ca2 + + Ocl− + Cl−

12.  and  behave as.acids as well as reducing agents.

Which are correct statements?

A. Equivalent weight of  and  are equal to their

moleculear weights when acting as reducing agents.

B. Equivalent weight of  and  are equal to half

their molecular weights when acting as reducing agents ,

H2C2O4 NaHC2O4

H2C2O4 NaHC2O4

H2C2O4 NaHC2O4

https://dl.doubtnut.com/l/_uLyqBqeHzKtE
https://dl.doubtnut.com/l/_pT2rWUWsCglX


C. 100 mL of 1 M solution of each is neutralized by equal volumes of

D. 100 mL of 1 M solution of each is oxidized by equal volumes of

Answer: B::D

Watch Video Solution

1NBa(OH)2

1MKMnO4

13. Which of the following statements are correct?

A. All reactions are oxidation and reduction reactions

B. Oxidizing agent is itself reduced

C. Oxidation and reduction always go side by side

D. Oxidation number during reduction decreases

Answer: B::C::D

Watch Video Solution

https://dl.doubtnut.com/l/_pT2rWUWsCglX
https://dl.doubtnut.com/l/_N0ssyDJdinLl


14. When the following half-reaction is balanced:  Which

of the following statement is (are) true regarding the balanced half-

reaction?

A. Carbon is losing two electrons per atom

B. Oxidation number of carbon increases from +1 to +3

C. Oxidation number of nitrogen remains constant

D. Oxidation number of nitrogen is decreases from +3 to-3

Answer: A::C

Watch Video Solution

CN − → CNO−

15. When the following redox reaction is balanced in basic medium,

 Which of the following

statements applies appropriately to the balanced reaction?

MnO
−
4 + C2O

2 −
4 → MnO2 + CO2 −

3

https://dl.doubtnut.com/l/_N0ssyDJdinLl
https://dl.doubtnut.com/l/_PyBIZnQxg8Kw
https://dl.doubtnut.com/l/_2QW3RQLjiox9


A. 1.50 moles of oxalate would be oxidized per mol of permanganate

B. Oxidation number of carbon is changing from 2 to+4

C. The equivalent weight of  in the above redox reaction is

one-third of its molar mass

D. In the balanced reaction,  appears on the reactants side

Answer: A::C::D

Watch Video Solution

KMnO4

4OH −

16. Consider the following redox reaction:

 Which

of the following is (are) true regarding the above redox reaction?

A.  mol of  is oxidized by one mole of 

B. Oxidation number of sulphur changes from +4 to +12

C. Change of medium from acidic to basic will have no effect on the

stoichiometry of reaction

KMnO4 + Na2S2O3 + H + → Mn+ + SO
2 +
4 + SO

2 −
4 + K +

5

8
Na2S2O3 KMnO4

https://dl.doubtnut.com/l/_2QW3RQLjiox9
https://dl.doubtnut.com/l/_088DCsCYDsHS


D. Change the medium from acidic to basic will change the nature of

product

Answer: A::D

View Text Solution

17. Which of the following can be oxidized further with a strong oxidising

agent?
S
O
2
M
n
O
2
A
l
2
O
3
C
r
O
3

A. 

B. 

C. 

D. 

Answer: A::B

Watch Video Solution

SO2

MnO2

Al2O3

CrO3

https://dl.doubtnut.com/l/_088DCsCYDsHS
https://dl.doubtnut.com/l/_pomXBQLbddrR
https://dl.doubtnut.com/l/_0czxWDezkmXy


18. Consider the following reaction:

 Which of the following can be

predicted appropriately?

A. The given reaction is a redox reaction

B. The given reaction is a precipitation reaction

C. One mole of  consumes two moles of KI

D. Iodide is being disproportionated in the above reaction.

Answer: A::B::C

View Text Solution

CuSO4 + KI + H +Cs– + I2 + K2SO4

CuSO4

19. Which of the following are disproportionation reaction:

A. 

B. 

C. 

F2 + H2O → HOF + HF

2HCHO + NaOh → HCOONa + CH3OH

P4 ( s ) + 3NaOH + 3H2O → PH3 + 3NaH2PO2

https://dl.doubtnut.com/l/_0czxWDezkmXy
https://dl.doubtnut.com/l/_Lz80bdkFdFcs


D. 

Answer: B::C::D

Watch Video Solution

2NO2 + 2KOH → KNO2 + KNO3 + H2O

20. For the reaction  


The correct statement(s) in the balanced equation is/are:

A. Stoichiometric coefficient of  is 6

B. lodide is oxidized

C. Sulphur is reduced

D.  is one of the products

Answer: A::B::D

Watch Video Solution

I − + CIO−
3 + H2SO4 → Cl− + HSO

−
4 + I2

HSO
−
4

H2O

https://dl.doubtnut.com/l/_Lz80bdkFdFcs
https://dl.doubtnut.com/l/_9YOiKn2THROg


21. If mol of a solution containing an ion  requires 

 mol of  for the oxidation of  to  in acid

medium, what is the value of n?

Watch Video Solution

2.68 × 10− 3 An+

1.6 × 10− 3 MnO
−
4 An+ AO−

3

22. The brown ring complex compound is formulated as

 The oxidation state of Fe is

Watch Video Solution

[Fe(H2O)5NO]SO4

23. In the following reaction:

 What is the

sum of the coefficients (a+b+c)?

Watch Video Solution

XZn + yHNO3(dil) → aZn(NO3)2 + bH2O + cNH4NO3

https://dl.doubtnut.com/l/_uAO3EIT312ac
https://dl.doubtnut.com/l/_PUodFNpelSiw
https://dl.doubtnut.com/l/_Plzi4cD3pCEw


24. The difference in the oxidation numbers of two types of sulphur

atoms in  is.......

Watch Video Solution

Na2S4O6

25. The number of moles of  reduced by 1 mol of Kl in alkaline

medium is

Watch Video Solution

KmnO4

26. In the following reaction, 

 If one mole of 

oxides 2.5 moles of  then the value of x is

Watch Video Solution

M x+ + MnO
−
4 → MO−

3 + Mn2 + + O2

1

2
MnO

−
4

M x+

https://dl.doubtnut.com/l/_Cw8584VsrDlY
https://dl.doubtnut.com/l/_2THY0RmfMLUO
https://dl.doubtnut.com/l/_a8pPyPlZuyOK


27. The number of electrons lost in the following change is:

A. 2

B. 4

C. 6

D. 8

Answer: 8

Watch Video Solution

Fe + H2O → Fe3O4 + H2

28. Match the reactions in column I with their respective characteristics in

column II. 

https://dl.doubtnut.com/l/_JsW95ZflrIgU
https://dl.doubtnut.com/l/_YgXMzG7spYyc


Watch Video Solution

29. Match the reactions in column I with the nature of the reactions/type

of the products listed in column II. 

Watch Video Solution

30. Match the compound with the average oxidation state of Fe. 

Watch Video Solution

https://dl.doubtnut.com/l/_YgXMzG7spYyc
https://dl.doubtnut.com/l/_GpgEWgfDLAck
https://dl.doubtnut.com/l/_TETAYNfv5kcW


31. Match the reaction with its type. 

Watch Video Solution

32. Match the reactions given in column I with their respective

oxidant/reductant given in column II. 

Watch Video Solution

https://dl.doubtnut.com/l/_MDl1Fbp5tUqI
https://dl.doubtnut.com/l/_MxQYhnAOKTxS


33. Assertion : Conversion of potassium ferrocyanide to potassium

ferricyanide is an oxidation process. 

Reason : Oxidation is the addition of an electronegative element to a

substance or removal of an electropositive element from a substance. : If

both (A) and (R) are correct and (R) is the correct explanation of (A).,
 If

both (A) and (R) are correct, but (R) is not the correct explanation of (A).,

If (A) is correct, but (R) is incorrect.,
 If both (A) and (R) are incorrect.

A. Statement 1 is 'True, statement 2 is True, Statement 2 is Correct

explanation for Statement 1.

B. Statement 1 is True, Statement 2 is True, Statement 2 is NOT a

correct explanation for Statement 1.

C. Statement 1 is True, Statement 2 is False.

D. Statement 1 is False, Statement 2 is True.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_BekZDc638L06


34. Assertion : In the reaction between potassium permanganate and

potassium iodide, permanganate ions act as oxidising agent . 

Reason : Oxidation state of manganese changes from +2 to +7 during the

reaction.

A. Statement 1 is 'True, statement 2 is True, Statement 2 is Correct

explanation for Statement 1.

B. Statement 1 is True, Statement 2 is True, Statement 2 is NOT a

correct explanation for Statement 1.

C. Statement 1 is True, Statement 2 is False.

D. Statement 1 is False, Statement 2 is True.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_jTjk4EwQz1IM


35. Assertion : Displacement reactions of chlorine, bromine and iodine

using fluorine are not generally carried out in aqueous solution. 

Reason : Fluorine being highly reactive attacks water and displaces the

oxygen of water. : If both (A) and (R) are correct and (R) is the correct

explanation of (A).,
 If both (A) and (R) are correct, but (R) is not the

correct explanation of (A),.
 If (A) is correct, but (R) is incorrect.,
 If both (A)

and (R) are incorrect.

A. Statement 1 is 'True, statement 2 is True, Statement 2 is Correct

explanation for Statement 1.

B. Statement 1 is True, Statement 2 is True, Statement 2 is NOT a

correct explanation for Statement 1.

C. Statement 1 is True, Statement 2 is False.

D. Statement 1 is False, Statement 2 is True.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_CoYHmbkR7SFt


36. Statement 1 : In , chlorine has the oxidation number-1. Statement

2 : Electron affinity of chlorine is greater than that of fluorine

A. Statement 1 is 'True, statement 2 is True, Statement 2 is Correct

explanation for Statement 1.

B. Statement 1 is True, Statement 2 is True, Statement 2 is NOT a

correct explanation for Statement 1.

C. Statement 1 is True, Statement 2 is False.

D. Statement 1 is False, Statement 2 is True.

Answer: D

Watch Video Solution

CIF3

37. Assertion : The two Fe atoms in , have different oxidation

numbers. 

Reason :  ions decolourise  solution.

Fe3O4

Fe2 + KMnO4

https://dl.doubtnut.com/l/_ev08ssZYWnRr
https://dl.doubtnut.com/l/_8Zvj9Yrqc3Db


A. Statement 1 is 'True, statement 2 is True, Statement 2 is Correct

explanation for Statement 1.

B. Statement 1 is True, Statement 2 is True, Statement 2 is NOT a

correct explanation for Statement 1.

C. Statement 1 is True, Statement 2 is False.

D. Statement 1 is False, Statement 2 is True.

Answer: B

Watch Video Solution

38. The salt of an alkali metal gives violet colour in the flame test. Its

aqueous solution gives a white precipitate with barium chloride in

hydrochloric acid medium. The salt is

A. Statement 1 is 'True, statement 2 is True, Statement 2 is Correct

explanation for Statement 1.

https://dl.doubtnut.com/l/_8Zvj9Yrqc3Db
https://dl.doubtnut.com/l/_NyDu7QXQcmMR


B. Statement 1 is True, Statement 2 is True, Statement 2 is NOT a

correct explanation for Statement 1.

C. Statement 1 is True, Statement 2 is False.

D. Statement 1 is False, Statement 2 is True.

Answer: D

Watch Video Solution

39. Which of the following oxides of carbon has fractional oxidation

state?

A. Carbon monoxide

B. Carbon dioxide

C. Carbon suboxide

D. All of these

Answer: C

https://dl.doubtnut.com/l/_NyDu7QXQcmMR
https://dl.doubtnut.com/l/_9Z2O1EyS3NeP


Watch Video Solution

40. Which of the following compounds of carbon has highest oxidation

state?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH4

CH3OH

CH2O

HCOOH

41. Oxidation state of carbon in diamond is:

A. zero

B. +1

https://dl.doubtnut.com/l/_9Z2O1EyS3NeP
https://dl.doubtnut.com/l/_tr5KzliQwiDv
https://dl.doubtnut.com/l/_2h3qjDzR7UQ4


C. 

D. 

Answer: A

Watch Video Solution

−1

+2

42. Oxidation reaction involves loss of electrons, and reduction reaction

involves gain of electrons. The reaction in which a species

disproportionates into two oxidation states (lower and higher) is called

disproportionation reaction. 

Which of the following statements is wrong?

A. An acidified  paper on being exposed to  turns green.

B. Mercuric chloride and stannoúschloride cannot exist as such.

C. Iron turning on addition to  solution decolourises the blue

colour.

D.  is formed but  is not.

K2Cr2O7 SO2

CuSO4

[Cul4]2 − [CuCl4]2 −

https://dl.doubtnut.com/l/_2h3qjDzR7UQ4
https://dl.doubtnut.com/l/_mYR6mwAytgkO


Answer: D

Watch Video Solution

43. Oxidation reaction involves loss of electrons, and reduction reaction

involves gain of electrons. The reaction in which a species

disproportionates into two oxidation states (lower and higher) is called

disproportionation reaction. 

Which of the following statements is correct?

A. An element in the lowest oxidation state acts only as a reducing

agent.

B. An element in the highest oxidation state acts only as a reducing

agent

C. The oxidation number of V in  is +4.

D. The oxidation number and valency of Hg in calomel is +1.

Answer: A

Rb4K(HV10O28)

https://dl.doubtnut.com/l/_mYR6mwAytgkO
https://dl.doubtnut.com/l/_z1RjdwMOXmBD


Watch Video Solution

44. 

Which of the following statements is wrong?

A. The algebraic sum of the oxidation numbers of all atoms in an ion is

zero

B. The oxidation number is an arbitrary number. It can have positive,

negative, zero, or fractional values.

C. When a negative ion changes to neutral species, the process is

oxidation

D. The oxidation number of phosphorous can vary from–3 to +5.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_z1RjdwMOXmBD
https://dl.doubtnut.com/l/_IOaOq2npegQI


45. Which one of the compound cannot decolourize an acidified solution

of ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

KMnO4

SO2

FeCl3

H2O2

FeSO4

46. 

When  is passed in a solution of potassiuin iodate, the oxidation

state of iodine changes from+
5
to 0
+
5
to -1
−
5
to 0
−
7
to -1

A. to 0

B.  to -1

SO2

+5

+5

https://dl.doubtnut.com/l/_GjGulQmL4oDJ
https://dl.doubtnut.com/l/_nNE074Y7Wu5B


C.  to 0

D.  to -1

Answer: A

Watch Video Solution

−5

−7

47. . 

In the reaction: 

 the element oxidised is :As

only
S only
N only
As and s both

A. As only

B. S only

C. N only

D. As and s both

Answer: D

W t h Vid S l ti

As2S3 + HNO3 → H3AO4 + H2SO4 + NO

https://dl.doubtnut.com/l/_nNE074Y7Wu5B
https://dl.doubtnut.com/l/_AHxdOFo8qoKY


Watch Video Solution

48. Select the species which can act as oxidant and reductant both: 

A. I,II,III

B. I,II,III,V

C. II,III,IV,V

D. III,IV,V

Answer: B

Watch Video Solution

(I)H2SO3, (II)H2O2, (III)O3(IV )HNO3, (V )Cl2

49. Oxidation number of oxygen in  increases in

the order:

A. 

K2O, K2O2, KO2, KO3

KO3 < KO2 < K2O2 < K2O

https://dl.doubtnut.com/l/_AHxdOFo8qoKY
https://dl.doubtnut.com/l/_6mDE4zP102VL
https://dl.doubtnut.com/l/_haxMbzAP5Pwj


B. 

C. 

D. 

Answer: C

Watch Video Solution

KO2 < KO3 < K2O < K2O2

K2O < K2O2 < KO2 < KO3

KO3 < K2O < KO2 < K2O2

50. Oxidation is de-electronation whereas reduction is electronation and

both occur simultaneously. The overall chemical change is called redox

reaction. Redox reactions are of three types: (i) Intermolecular redox

reactions, (ii) Autoredox or disproportionation reaction, and (iii)

Intramolecular redox reactions. Oxidants are themselves reduced and

oxidise reductants. The oxidation number of an element in acompound

decides its nature to act as oxidant or reductant. 

Which of the following show intramolecular redox change: 

 


 


(I)2KCIO3 → 2KCl + 3O2

(II)(NH4)2Cr2O7 → N2 + Cr2O3 + 4H2O

https://dl.doubtnut.com/l/_haxMbzAP5Pwj
https://dl.doubtnut.com/l/_FpzQMW2WP0Ht


 


A. II,III

B. I,IV

C. I,II,III

D. II,IV

Answer: C

Watch Video Solution

(III)NH4NO2 → N2 + 2HO2O

(IV )2Cu2 + → Cu2 + + Cu

https://dl.doubtnut.com/l/_FpzQMW2WP0Ht

